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izR;sd fo|kFkhZ dk jftLVªs'ku ua- ds vuqlkj LFkku fu;r gS rFkk os vius fu;r LFkku ij gh cSBsaA ;fn dksbZ fo|kFkhZ
fdlh nwljs fo|kFkhZ ds LFkku ij cSBk ik;k x;k rks nksuksa fo|kfFkZ;ksa dks ijh{kk d{k ls ckgj dj fn;k tk,xk vkSj
nksuksa dks dksbZ vU; tqekZuk Hkh Lohdk;Z gksxkA

ijh{kk dh vof/k gS rFkk iz'u i= esa gSaA gSaA

fo|kFkhZ ijh{kk d{k esa yksx Vscy]dsYdwysVj ;k fdlh vU;lkexzh dk mi;ksx ugha dj ldrk gSA

ijh{kk ds le; fo|kFkhZ dks ifjoh{kd }kjk fn;s x;s funsZ'kksa dh ikyuk djuk vko';d gSA

iz'u i= gydjus ls igys fo|kFkhZ vk'oLr gks tk, fd blesa lHkh ist layXu gSa vFkok ughaA

izR;sd lgh mÙkj ds vad gSaA

ijh{kkFkhZ dks gy fd;s x;s iz'u dk mÙkj mÙkj iqfLrdk esa lgh LFkku ij
ds }kjk mfpr xksys dks xgjk djds nsuk gSA

6. 1 mark will be deducted for every wrong
answer.

7.
Blue / Black Ball Point Pen only

8. Use of Pencil is strictly prohibited.

Each correct answer carries 4 marks, while
Guessing of answer is harmful.

A candidate has to write his / her answers in the OMR sheet by darkening the appropriate
bubble with the help of as the correct answer(s) of the
question attempted.
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1. A rotating wheel has a speed of 1200 r.p.m.

and then it is made to slow down at a constant

rate at 4 rad/sec2. The number of revolution

it makes before coming to rest will be :-

(1) 272 (2) 722

(3) 143 (4) 314

2. The displacement of particle in a medium is
given by :

Y = 10–6 sin(100t + 20x + 
4
p

) meter

t is in second, x in meter, the speed of wave is:-
(1) 200 m/s (2) 20 m/s
(3) 5p m/s (4) 5 m/s

3. A particle performs uniform circular motion
with an angular momentum (L). If the angular
frequency of the particle is doubled and kinetic
energy is halved. Its angular momentum
becomes

(1) 4L (2) 2L (3) 
L
2

(4) 
L
4

4. An open organ pipe has fundamental
frequency ƒ. If half of pipe is filled with water,
then the frequency of first overtone of pipe will
be :-

(1)  ƒ (2) 2ƒ (3) 3ƒ (4) 
3
2

ƒ

5. A linear simple harmonic oscillator has an
amplitude of 20 cm. What is its time period
if  the  speed  at  the  mean  position  is  31.4  cm/
sec.:-
(1)  2  sec. (2)  4  sec.
(3)  6  sec. (4)  8  sec.

6. For a transistor amplifier, the voltage gain :-
(1) Is high at high and low frequencies and

constant in the middle frequency range
(2) Is low at high and low frequencies and

constant in the middle frequency range
(3) Remains constant for all frequencies
(4) Is high at high frequencies and low at low

frequencies in middle frequency range

1. ,d ?kw.khZ ifg;k 1200 ?kw.kZu/feuV pky ls ?kwe jgk gSA bls

4 js-@ls-2 ls eanu fd;k tkrk gSA ifg;s }kjk dkVs x;s pDdjksa

dh la[;k gksxh :-

(1) 272 (2) 722

(3) 143 (4) 314

2. fdlh ek/;e esa d.kksa dk foLFkkiu gS :

Y  =  10–6 sin(100t + 20x + 
4
p

) ehVj

t lSd.M vkSj x ehVj esa gSA rjax dk osx D;k gksxk :-

(1) 200 m/s (2) 20 m/s

(3) 5p m/s (4) 5 m/s

3. ,d d.k ,d leku o`Ùkh; xfr dks.kh; laosx (L) ls djrk

gS ;fn d.k dh dks.kh; vko`Ùkh dks nqxquk rFkk xfrt mtkZ dks

vk/kk dj fn;k tk;s rks dks.kh; laosx gks tk;sxk :-

(1) 4L (2) 2L (3) 
L
2

(4) 
L
4

4. nksuk s a fljks a ij [kqys vkxZu ikbi dh fundamental

frequency ƒ gSA vxj mls vk/kk ikuh ls Hkj fn;k tk, rks

first overtone dh frequency gksxh :-

(1)  ƒ (2) 2ƒ (3) 3ƒ (4) 
3
2

ƒ

5. ,d js[kh; ljy vkorhZ yksyd dk vk;ke 20 lseh- gS rFkk

ek/;oLFkk ij bldk osx 31.4 lseh-@ls- gS] rks bldk

vkorZdky gksxk :-

(1)  2  sec. (2)  4  sec.

(3)  6  sec. (4)  8  sec.

6. Vªk¡ftLVj izo/kZd ds fy;s] oksYVst ykHk :-
(1) mPp vkSj de vko`fÙk ij mPp rFkk e/; vko`fÙk ijkl

ij fu;r gksrk gS
(2) mPp vkSj de vkòfÙk ij de rFkk e/; vko`fÙk ijkl

ij fu;r gksrk gS
(3) lHkh vko`fÙk;ksa ds fy;s fu;r jgrk gS
(4) mPp vkòfÙk ij mPp vkSj e/; vkòfÙk ijkl esa de vkòfÙk

ij de gksrk gS
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7. A block rests on a horizontal table which is
executing S.H.M. in the horizontal plane with
an amplitude a. If the coefficient of friction is
µ, the block just starts to slip when the
frequency of oscillation is :-

(1) 
mg
a

(2) 
1

2p
mg
a

(3) 
1

2p m
a
g

(4) 
1

2p
ma
g

8. In the following combinations of logic gates,
the outputs of A, B and C are respectively :-

(a) 
1
1

0

(b) 
0
1

(c) 
1
1

1

(1)  0,  1,  1 (2)  0,  1,  0
(3)  1,  1,  0 (4)  1,  0,  1

9. Three identical metallic uncharged spheres A,
B and C of radius 'a' are kept on the corners of
an  equilateral  triangle  of  side  d  (d  >>  a).  A
fourth sphere (radius a) which has charge Q
touches A and is then removed to a position far
away. B is earthed and then the earth
connection is removed. Then C is earthed. The
charge on C is :-

(1) 
Qa a d
2d 2d

-æ ö
ç ÷
è ø

(2) 
Qa 2d a
2d d

-æ ö
ç ÷
è ø

(3) 
Qa a d
2d d

-æ ö
ç ÷
è ø

(4) 
2Qa d a

d 2d
-æ ö

ç ÷
è ø

10. The graph given below represents the I – V
characteristics of a zener diode. Which part of
the characteristics curve is most relevant for its
operation as a voltage regulator :-

I( )mA

Reverse bias

VZ

d
e

current

Forward bias

V(V)b

a

c

I(µA)
(1) ab (2) bc (3) cd (4) de

7. ,d xqVdk ,slh {kSfrt est ij j[kk gS] tks a vk;ke ds lkFk
{kSfrt ry esa l- vk- x- dj jgh gSA ;fn ?k"kZ.k xq.kkad µ
gS rks nksyu dh og vkòfÙk ftl ij xqVdk fQlyuk izkjaHk
djsxk] gksxh :-

(1) 
mg
a

(2) 
1

2p
mg
a

(3) 
1

2p m
a
g

(4) 
1

2p
ma
g

8. fuEufyf[kr rkfdZd }kjksa ds lewgu esa A, B vkSj C ds fuxZr
eku Øe'k% gS :-

(a) 
1
1

0

(b) 
0
1

(c) 
1
1

1

(1)  0,  1,  1 (2)  0,  1,  0
(3)  1,  1,  0 (4)  1,  0,  1

9. A, B o C rhu loZle vuvkosf'kr /kkfRod xksyksa dks Øe'k%
leckgq f=Hkqt ds 'kh"kks± ij j[kk x;k gSA f=Hkqt dh Hkqtk dh
yEckbZ d o xksyksa dh f=T;k a gS rFkk d >> a gSA ,d prqFkZ
loZle xksyksa ijUrq  Q vkos'k ls vkosf'kr gS] dks A ls Li'kZ
djds ra= ls gVk fn;k tkrk gSA vc B dks HkqlEifdZr djds]
/kjkry ls bldk lEidZ gVk nsrs gSaA var esa C dks HkwlEifdZr
dj fn;k tkrk gS] rks C ij vkos'k gksxk :-

(1) 
Qa a d
2d 2d

-æ ö
ç ÷
è ø

(2) 
Qa 2d a
2d d

-æ ö
ç ÷
è ø

(3) 
Qa a d
2d d

-æ ö
ç ÷
è ø

(4) 
2Qa d a

d 2d
-æ ö

ç ÷
è ø

10. tsuj Mk;ksM dk I – V vfHkyk{kf.kd fn;s x;s xzkQ esa iznf'kZr
gSA vfHkyk{kf.k oØ dk dkSulk Hkkx blds oksYVst fu;a=d
ds :i esa dk;Z ds fy;s vf/kd mi;qDr  gS :-

I( )mA

mRØe vfHkufr

VZ

d
e

/kkjk

vxz vfHkufr

V(V)b

a

c

I(µA)
(1) ab (2) bc (3) cd (4) de
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11. A charge +Q is uniformly distributed over a thin
ring of radius R. A negative point charge –Q
and mass m starts from rest at a point far away
from the centre of the ring and moves towards
the centre. The velocity of this particle at the
moment it passes through the centre of the ring
is (in CGS unit) :-

(1) 
25Q

2mR
(2) 

23Q
2mR

(3) 
22Q

mR
(4) 

2Q
2mR

12. The initial and the final temperatures of water

as recorded by an observer are (40.6 ± 0.2)°C

and (78.3 ± 0.3)°C. Calculate the rise in

temperature with proper error limits.

(1) (37.7 ± 0.5)°C (2) (42.0 ± 0.2)°C

(3) (37.7 – 0.1)°C (4) (37 + 0.5)°C
13. The equivalent capacitance between points A

and B in the circuit will be :-

(1) 
10
3

µF     4µF

4µF

4µF 4µF

4µF

A

B

(2) 4µF
(3) 6µF
(4) 8µF

14. An element has binding energy 8eV/nucleon.
If it has total binding energy 128eV then the
number of nucleous are :-
(1)  8 (2) 14
(3) 16 (4) 32

15. If R1 and  R2 are respectively the filament
resistances of a 200 W bulb and 100 W bulb
designed to operate on the same voltage, then:-
(1)  R1 is two times R2

(2)  R2 is two times R1

(3) R2 is  four  times  R1

(4) R1 is  four  times  R2

16. In a sample of radioactive material what
percentage of the initial number of active nuclei
will decay during one mean life :-
(1) 37% (2) 50%
(3) 63% (4) 69.3%

11. R f=T;k ds oy; ij +Q vkos'k le:i forfjr gSA vuUr

ls –Q vkos'k o m æO;eku dk d.k fojkekoLFkk ls oy;

ds dsUæ dh vksj vkdf"kZr gksrk gSA tc d.k dsUæ ij igq¡psxk

rks bldh pky gksxh (CGS ek=d esa) :-

(1) 
25Q

2mR
(2) 

23Q
2mR

(3) 
22Q

mR
(4) 

2Q
2mR

12. ,d izs{kd }kjk ikuh dk fjdkWMZ fd;k x;k izkjafHkd rFkk

vfUre rki Øe'k% (40.6 ± 0.2)°C rFkk

(78.3 ± 0.3)°C. gSA rks =qfV lhek lfgr rki esa òf¼ Kkr djks-

(1) (37.7 ± 0.5)°C (2) (42.0 ± 0.2)°C

(3) (37.7 – 0.1)°C (4) (37 + 0.5)°C

13. A o B ds e/; rqY; /kkfjrk gksxh :-

(1) 
10
3

µF     4µF

4µF

4µF 4µF

4µF

A

B

(2) 4µF

(3) 6µF

(4) 8µF

14. ,d rRo dh izfr U;wfDyvkWu ca/ku ÅtkZ 8eV/U;wfDyvkWu
gSA ;fn bldh dqyca/ku ÅtkZ 128eV gS rks U;wfDyvkuksa dh

la[;k gksxh :-

(1)  8 (2) 14 (3) 16 (4) 32

15. 200 W o 100 W ds cYc dk izfrjks/k Øe'k% R1 o R2

gS rFkk nksuksa ,d leku foHko ds fy;s cus gSa] rks :-

(1) R2 dk nqxuk R1 gS

(2) R1 dk nqxuk R2 gS

(3) R1 dk pkj xquk R2 gS

(4) R2 dk pkj xquk R1 gS
16. ,d ek/; vk;qdky esa ,d jsfM;ks lfØ; inkFkZ dk cpk gqvk

izfr'kr Hkkx gksxk :-

(1) 37% (2) 50%

(3) 63% (4) 69.3%

izR;sd iz'u dks vtq Zu cudj djksA
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17. Current i as shown in the circuit will be :-
(1) 10 A

(2) 
10
3

A

3W

3W

10V3W

i(3) Zero

(4) 
10

A
9

æ ö
ç ÷è ø

18. A manometer connected to a closed tap reads
3.5 × 105 Nm–2. When the value is opened, the
reading of manometer falls to 3.0 × 105 Nm–2,
then velocity of flow water is:-
(1) 100 m/s (2) 10 m/s

(3) 1 m/s (4) 10 10  m/s

19. When n cells are joined in parallel as shown,
the strength of the current i is given by :-

E,r

E,r

E,r

R K
i

(1) 
nE

R nr+
(2) 

E
R (r / n)+

(3) 
E

r Rn+
(4) None of these

20. An air bubble of radius r in water is at a depth
h below the water surface at some instant. If P
is atmospheric pressure. d and T are density
and surface tension of water respectively the
pressure inside the bubble will be :-

(1) P + hdg – 
4T
r

(2) P + hdg + 
2T
r

(3) P + hdg – 
2T
r

(4) P + hdg + 
4T
r

21. A light ray is travelling between two media as
given below. The angle of incidence on the
boundary in all the cases is 30°.Identify the
correct sequence of increasing order of angles
of refraction :-
(i) Air to water, (ii) Water to glass
(iii) Glass to water (Refractive indices of
glass and water are respectively 3/2 and 4/3)
(1) (i), (ii), (iii) (2) (ii), (iii), (i)
(3) (iii), (i), (ii) (4) (i), (iii), (ii)

17. i dk eku gksxk :-
(1) 10 A

(2) 
10
3

A

3W

3W

10V3W

i
(3) 'kwU;

(4) 
10

A
9

æ ö
ç ÷è ø

18. ,d cUn uy ls t qM s g q, esuk sehVj dk ikB~;k ad
3.5 × 105 Nm–2 gSA tc uy pkyq djrs gS rks ikB~;kad

3.0 × 105 Nm–2 gks tkrk gS] ty ds izokg dk osx gS %&

(1) 100 m/s (2) 10 m/s

(3) 1 m/s (4) 10 10  m/s

19. i dk eku gksxk :-

E,r

E,r

E,r

R K
i

(1) 
nE

R nr+
(2) 

E
R (r / n)+

(3) 
E

r Rn+
(4) buesa ls dksbZ ugha

20. ,d {k.k ij r f=T;k dk ,d ok;q dk cqycqyk ty lrg ls

h xgjkbZ ij fLFkr gS] ;fn P ok;qe.Myh; nkc gS rFkk d ,oa

T Øe'k% ?kuRo rFkk i`"B ruko gS] rks cqycqys ds Hkhrj nkc

gS :-

(1) P + hdg – 
4T
r

(2) P + hdg + 
2T
r

(3) P + hdg – 
2T
r

(4) P + hdg + 
4T
r

21. izdk'k dh ,d fdj.k nks ek/;eksa ds uhps py jgh gS] tSlk fd
uhps fn;k x;k gSA lHkh fLFkfr;ksa esa] lhek js[kk ij vkikrh dks.k
30° gSA c<rs gq, viorZu dks.kksa dk lgh Øe crkb;s  :-

(i) gok ls ikuh (ii) ikuh ls dk¡p

(iii) dk¡p ls ikuh (dk ¡p ,oa ikuh ds
viorZukad Øe'k% 3/2 ,oa 4/3 gSaA)

(1) (i), (ii), (iii) (2) (ii), (iii), (i)

(3) (iii), (i), (ii) (4) (i), (iii), (ii)
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22. The length of a metal wire is l1, when the
tension  in  it  is  T1 and is l2 when tension is
T2.The unstretched length of the wire is :-

(1) 1 2l l (2) 1 2

Z
+l l

(3) 1 2 2 1

2 1

T T
T T
-
-

l l
(4) 1 2 2 1

2 1

T T
T T
+
+

l l

23. A parallel beam of monochromatic light is
incident on one face of an equilateral prism,
the angle of incidence being 55°. The angle
of emergence of the beam from the other face
is 46°. The angle of minimum deviation is :-
(1) < 41° (2) equal to 41°

(3) > 41° (4) ³  41°

24. A long string with a charge of l per unit length
passes through an imaginary cube of edge a.
The maximum flux of the electric field through
the cube will be :-

(1) la/e0 (2) 
0

a
3
l
Î

(3) 6la2/e0 (4) 3 la/e0

25. In a compound microscope the objective and
eye-piece have focal lengths of 0.95 cm and
5 cm respectively, and are kept at a distance
of 20 cm. The last image is formed at a distance
of 25cm from eye-piece. What is the total
magnification of the microscope :-
(1) 95 (2) 94
(3) 94/6 (4) None of these

26. In the series circuit shown in the figure the
voltmeter reading will be :-

CLRA
~

300
V

300
VV

200V

(1) 300 V (2) 900 V
(3) 200 V (4) 100 V

27. Interference fringes were produced in Young's
double slit experiment using light of
wavelength 5000 Å. When a film of material
2.5 × 10–3 cm thick was placed over one of
the slits, the fringe pattern shifted by a distance
equal to 20 fringe widths. The refractive index
of the material of the film is :-
(1) 1.25 (2) 1.33 (3) 1.4 (4) 1.5

22. ,d rkj dh yEckbZ l1 gS tc blesa ruko T1 rFkk yEckbZ l2

gS tc ruko T2 gS] rkj dh okLrfod yEckbZ gksxh  :-

(1) 1 2l l (2) 1 2

Z
+l l

(3) 1 2 2 1

2 1

T T
T T
-
-

l l
(4) 1 2 2 1

2 1

T T
T T
+
+

l l

23. ,d leckgq fizTe ds ,d eq[k ij 55° ds vkiru dks.k
ij ,do.khZ izdk'k dk lekUrj iq¡t vkifrr gSA nwljs eq[k
ls iq¡t dk fuxZr dks.k  46° gSA U;wure fopyu dk dks.k
gSa :-

(1) < 41° (2) 41° ds cjkcj

(3) > 41° (4) ³  41°

24. ,d yEch l js[kh; vkos'k ?kuRo okyh Mksjh ,d ?ku ftldh
Hkqtk dh yEckbZ a gS] ls xqtjrh gSA ?ku ls vf/kdre QyDl
dk eku gksxk :-

(1) la/e0 (2) 
0

a
3
l
Î

(3) 6la2/e0 (4) 3 la/e0

25. ,d la;qDr lw{en'khZ esa vfHkn`';d vkSj usf=dk dh Qksdl

nwfj;k¡ Øe'k% 0.95 cm vkSj 5 cm gSa vkSj mUgsa 20 cm

dh nwjh ij j[kk x;k gSA vfUre izfrfcEc usf=dk ls 25cm

dh nwjh ij curk gSA lw{en'khZ dk dqy vko/kZu D;k gSa  :-

(1) 95 (2) 94 ds cjkcj

(3) 94/6 (4) buesa ls dksbZ ugha
26. fp= esa  n'kk Z, x, Js.kh ifjiFk esa ] ok sYVehVj dk

ikB~;kad gksxk :-

CLRA
~

300
V

300
VV

200V

(1) 300 V (2) 900 V
(3) 200 V (4) 100 V

27. ;ax f}fLyV iz;ksx esa] rjaxnS/;Z 5000 Å ds izdk'k }kjk

O;frdj.k fÝUtsa mRiUu gksrh gSa] tc  2.5 × 10–3 cm

eksVs inkFkZ dh ,d fQYe] ,d fLyV ds Åij j[k nh tkrh

gSa] tc fÝUtksa dk uewuk 20 fÝUt pkSM+kbZ dh nwjh  ds cjkcj

f[kld tkrk gSA fQYe ds inkFkZ dk viorZukad gS :-

(1) 1.25 (2) 1.33 (3) 1.4 (4) 1.5
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28. Consider the situation shown in figure. If the
current I in the long straight wire xy is increased
at a steady rate the induced current in loop A
and B will  be :-

BA

x

y

(1) clockwise in A and anticlockwise in B
(2) anticlockwise in A and clockwise in B
(3) clockwise in both A and B
(4) anticlockwise in both A and B

29. A block weighing 10 N travels down a smooth
curved track AB joined to a rough horizontal
surface (Fig.) The rough surface has a friction
coefficient of 0.20 with the block. If the block
starts slipping on the track from a point 1.0 m
above the horizontal surface, then it would
move a  distance  S  on  the  rough sur face.
The  value  of  S  i s  [g  =  10  ms–2] :-

(1) 1m

(2) 2m   

(3) 3m

(4) 5m

30. In the figure, the magnetic induction at point
O is :-

(1) 0µ I
4 rp

r
O

I
(2) 0 0µ I µ I

4r 2 r
+

p

(3) 0 0µ I µ I
4r 4 r

+
p

(4) 0 0µ I µ I
4r 4 r

-
p

31. A block of mass m moving at a speed v
compresses a spring through a distance x
before its speed is halved. The spring constant
of the spring is :-
(1) mv2/4x2 (2) 3mv2/4x2

(3) 5mv2/4x2 (4) 7mv2/4x2

28. fp= esa n'kkZbZ fLFkfr dh dYiuk dhft,A ;fn yEch

lhèks rkj xy esa /kkjk I fu;r nj ls c<+  jgh gks rks ywi

A ,oa B esa izsfjr /kkjk gksxh :-

BA

x

y

(1) A esa nf{k.kkorZ ,oa B esa okekorZ

(2) A esa okekorZ ,oa B esa nf{k.kkorZ
(3) nksuksa A ,oa B esa nf{k.kkorZ
(4) nksuksa A ,oa B esa okekorZ

29. ,d 10 N Hkkj dk CykWd fpdus oØ ry AB ij fQlyrk

gSA vkxs {kSfrt lrg [kqjnjh gSA ;fn {ksfrt lrg ls Cykd

1m mij ls fQlyuk izkjEHk djrk gSA {kSfrt lrg dk ?k"kZ.k

xq.kkad 0.2 gS] rks {kSfrt lrg ij CykWd }kjk r; dh xbZ nwjh

Kkr djks [g = 10 ms–2] :-

(1) 1m

(2) 2m   

(3) 3m

(4) 5m

30. fp= esa] fcUnq O ij pqEcdh; izsj.k gS :-

(1) 0µ I
4 rp

r
O

I
(2) 0 0µ I µ I

4r 2 r
+

p

(3) 0 0µ I µ I
4r 4 r

+
p

(4) 0 0µ I µ I
4r 4 r

-
p

31. ,d m nzO;eku dk Cykd v osx ls ,d fLiax ls Vdjkrk

gS tc fLiazx dk ladqpu x gS rc CykWd dk osx vk/kk jg

tkrk gS] rks fLiazx dk fu;rkad gS :-

(1) mv2/4x2 (2) 3mv2/4x2

(3) 5mv2/4x2 (4) 7mv2/4x2



H 7/30

11–02–2013PRE-MEDICAL : ENTHUSIAST COURSE

Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

32. Three identical cells are connected as shown
in figure. Find potential difference between A
and B (VA –  VB)  :-

1V,1W1V,1W

A B

1V,1W

(1)  0 (2)  1  V (3)  2  V (4)  3  V
33. A sphere of mass m moving horizontally with

velocity v0 collides against a pendulum bob of
mass m. If the two masses stick together after
the collision, then the maximum height attained
is (Refer Fig.)

(1) 
v
g
0
2

2
(2) 

v
g
0
2

4
(3) 

v
g
0
2

6
(4) 

v
g
0
2

8

34. A parallel plate capacitor is made by stacking
n equally spaced plates connected alternately.
If the capacitance between any two plates is C.
Then the resultant capacitance is :-
(1) C (2) nC
(3) (n – 1)C (4) (n + 1)C

35. Two masses are attached to two ends on an ideal
spring and the spring is in compressed state.
The energy of the spring is 60J. If the spring
is relesed then :–

(1) Energy of both bodies will be same.
(2) Energy of smaller body will be 10J.
(3) Energy of smaller body will be 20J
(4) Energy of smaller body will be 40J

36. A hollow spherical conductor of radius R is
given a charge Q. work done in moving a
charge q from its centre to surface is :-

(1) 
0

Qq
4 Rpe (2) 

0

Qq
2 Rpe  (3) 

0

Qq
Rpe (4) Zero

32. fp=kuqlkj rhu leku lsyk s a  dk s  tk sM + k tkrk g S
vr% A ,oa B ds e/; foHkokUrj (VA –  VB) Kkr
djks :-

1V,1W1V,1W

A B

1V,1W

(1)  0 (2)  1  V (3)  2  V (4)  3  V

33. ,d M nzO;eku dk xksyh v0 osx ls leku nzO;eku dh fLFkj

xksyh ls Vdjkdj fpid tkrh gS tks dh ,d Mksjh ls yVdh

gS] rks VDdj ds i'pkr fudk; }kjk izkIr vf/kdre ÅpkbZ

gksxh

(1) 
v
g
0
2

2
(2) 

v
g
0
2

4
(3) 

v
g
0
2

6
(4) 

v
g
0
2

8

34. ,d lekUrj iê la/kkfj=] leku nwjh (equally spaced)
ij j[kh gqbZ n IysVksa ds <sj] ftlesa ,d NksM+dj ,d IysV
(alternately) tksM+h xbZ gSa] ls cuk;k x;k gSA ;fn fdUgha
nks IysVksa ds chp /kkfjrk C gS] rks ifj.kkeh /kkfjrk gksxh :-
(1) C (2) nC
(3) (n – 1)C (4) (n + 1)C

35. ,d fLizax ls fp=kuqlkj nks æO;eku tqM+s gSa rFkk fLizax ladqfpr
voLFkk esa gSA ;fn fLizax dh ÅtkZ 60J gS] rks fLizax dks NksM+us

ij %&

(1) nksuksa fi.Mksa dh ÅtkZ leku gksxhA

(2) NksVs fi.M dh ÅtkZ 10J gksxhA
(3) NksVs fi.M dh ÅtkZ 20J gksxhA

(4) NksVs fi.M dh ÅtkZ 40J gksxhA
36. ,d [kks[kyk xksyh; pkyd ij vkos'k Q o f=T;k R gSA

bldk dsUæ ls bldh lrg rd q vkos'k dk s ykus
ij dk;Z :-

(1) 
0

Qq
4 Rpe (2) 

0

Qq
2 Rpe  (3) 

0

Qq
Rpe (4) Zero
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37. Two billiard ball P and Q, each of mass 20g and
moving in opposite directions with speed of
5m/s each, collide and rebound with the same
speed. If the collision lasts for 10–3 sec, which
of the following statement are true ?
(1) The impulse imparted to each ball is

0.8 N-s
(2) The impulse imparted to each ball is

0.4 N-s and the force exerted on each ball
is 400 N

(3) The impulse imparted to each ball is
0.4 kg m/s and the force exerted on each
ball  is  4  ×  10–5 N

(4) The impulse and the force on each ball are
equal in magnitude and opposite in
direction

38. The internal energy of an ideal gas increases
during an isothermal process when the gas is:-
(1) expanded by adding more molecules to it
(2) expanded by adding more heat to it
(3) expanded against zero pressure
(4) compressed by doing work on it

39. For which of the following graphs, the average
velocity of a particle moving along a straight
line for time interval 0 to t must be negative :-

(1) 

timet0

x

Position

(2) 

timet0

v

Velocity

(3) 

Velocity

0 t/3 t
time (4) 

Position 

0
t

x

40. Initial pressuare and volume of a gas are P and
V respectively. First its volume is expanded to
4V by isothermal process and then again its
volume makes to be V by adiabatic process,
then  its  final  pressure  is  (g = 1.5):-
(1) 8P (2) 4P (3) P (4) 2P

37. leku nzO;eku 20g dh nks fcfy;MZ~l dh xsans P o Q,

5 m/s dks leku pkyksa ls foijhr fn'kkvksa esa xfr djrs gq,

Vdjkrh gS rFkk pky ls izfrf{kIr gksrh gSA ;fn VDdj esa

10–3 sec, yxrs gSa] rks fuEu esa ls dkSulk dFku lgh gS%&

(1) izR;sd xssan dks iznÙk vkos'k 0.8 N-s gS

(2) izR;sd xsan dks iznÙk vkosx 0.4 N-s gS rFkk izR;sd ij

yxus okyk cy 400 N gSA

(3) izR;sd xsan dks iznÙk 0.4 kg m/s gSA rFkk izR;sd ij

yxus okyk cy 4 × 10–5 N gSA

(4) izR;sd xsan ij yxus okyk vkosx vkSj cy ifjek.k esa leku

rFkk fn'kkvksa esa foijhr gSA

38. ,d vkn'kZ xSl dh vkUrfjd ÅtkZ ,d lerkih; çØe ds
nkSjku c<+rh gS] tc xSl esa:-
(1) vksj v.kqvksa dks feykus ij çlkj gksA
(2) vksj m"ek dks feykus ij çlkj gksA
(3) 'kwU; nkc ds fo:¼ çlkj gksA
(4) blds }kjk fd;s x;s dk;Z esa lEihM+u gksA

39. ,d ljy js[kk ds vuqfn'k xfr'khy fdlh d.k ds fy,]

0 ls t le;kUrjky esa fuEu esa ls fdl xzkQ ds fy, vkSlr

osx ½.kkRed] gksxk\

(1) 

timet0

x

Position

(2) 

timet0

v

Velocity

(3) 

Velocity

0 t/3 t
time (4) 

Position 

0
t

x

40. ,d xSl dk çkjfEHkd nkc ,oa vk;ru Øe'k% P  ,oa  V

gSaA igys bldk vk;ru lerkih; çØe }kjk 4V rd çlkfjr

fd;k tkrk gS vkSj fQj :¼ks"e çØe }kjk okil V vk;ru

cuk;k tkrk gS rks bldk vfUre nkc gSa (g = 1.5):-

(1) 8P (2) 4P (3) P (4) 2P

dksbZ Hkh iz'u Key Filling ls xyr ugha gk suk pkfg,A
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41. Position vector of a particle is given as

2 2ˆ ˆr (t 4t 6)i (t ) j= - + +
r . The time after which,

the velocity vector and acceleration vector
becomes perpendicular to each other is equal to :-

(1)  1  sec (2)  2  sec

(3) 1.5 sec (4) 10 sec

42. From the following P-T graph what inference
can be drawn -
(1)  V2 > V1

(2)  V2 < V1

­
T

P ®
q 2 q 1

V2

V1

(3)  V2 = V1

(4) None of the above
43. Mass  of  a  block  is  20  kg.  A     

20 kg

man of mass 60kg raises it with
constant velocity as shown in
the figure. Force exerted by
man on the floor will be :-
(1) 400 N
(2) 500 N
(3) 200 N
(4) None of the above

44. The power radiated by a black body is P and
it radiates maximum energy around the
wavelength l0. Now the temperature of the
black body is changed so that it radiates
maximum energy around wavelength l0 / 2.
The power radiated by it will become -
(1)  2 (2)  8
(3) 16 (4) 64

45. Two bodies A and B of masses 15 kg and
10 kg in contact with each other rest on a table
against a rigid wall as shown in the figure.
Coefficient of friction between the bodies and
the  table  is  0.2.  If  a  force  300  N  is  applied
horizontally to A, then force exerted by B on
A is :-

15 kg 10 kg

A B

300 N

(1) Zero (2) 150 N
(3) 250 N (4) 300 N

41. ,d d.k dk fLFkfr lfn'k 2 2ˆ ˆr (t 4t 6)i (t ) j= - + +
r  ls

fn;k tkrk gSA fdrus le; i'pkr~ mldk osx lfn'k rFkk Roj.k

lfn'k ijLij yEcor~ gksaxs&

(1)  1  sec (2)  2  sec

(3) 1.5 sec (4) 10 sec

42. fuEuk a fdr P-T xz kQ ls D;k fu"d"k Z  fudyrk
gSA
(1)  V2 > V1

(2)  V2 < V1

­
T

P ®
q 2 q 1

V2

V1

(3)  V2 = V1

(4) buesa ls dksbZ ugha
43. ,d CykWd dk nzO;eku 20 kg gSA    

20 kg

fp= esa n'kkZ;s vuqlkj 60kg nzO;eku dk
,d vkneh mls fu;r osx ls Åij mBkrk
gSA vkneh }kjk /kjkry ij vkjksfir cy
gksxk&
(1) 400 N
(2) 500 N
(3) 200 N
(4) mijksDr esa ls dksbZ ugha

44. ,d d`f".kdk oLrq }kjk mRlftZr 'kfDr P gS vkSj bldh
vf/kdre mRltZu ÅtkZ  l0 rjaxnS/; Z ds laxr gSA
vc d`f".kdk oLrq dk rkieku ifjofrZr dj fn;k tkrk gS
ftlls bldh vf/kdre mRltZu ÅtkZ l0 / 2 rjaxnS/;Z
ds laxr gk s  tkrh g SA blds }kjk mRlftZr
'kfDr vc gksxh -
(1)  2 (2)  8
(3) 16 (4) 64

45. fp= esa n'kkZ;s vuqlkj ikjLifjd lEidZ esa vk;h 15 kg rFkk

10 kg nzO;eku dh nks oLrq,asa A rFkk B n`<+ nhokj ds lgkjs

,d Vscy ij j[kh gSA oLrqvksa rFkk Vscy ds e/; ?k"kZ.k xq.kkad

0.2. gSA ;fn A ij 300 N dk ,d cy {kSfrt fn'kk esa

yxk;k tk;s] rks B }kjk A ij vkjksfir cy gS&

15 kg 10 kg

A B

300 N

(1) 'kwU; (2) 150 N
(3) 250 N (4) 300 N

Use stop, look and go method in reading the question
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46. Which of the following process does not occur
during the formation of CHCl3 from C2H5OH and
CaOCl2?
(1) Hydrolysis (2) Oxidation
(3) Reduction (4) Chlorination

47. White lead is :-
(1) Pb3O4
(2) PbO
(3) 2PbCO3 , Pb(OH)2
(4) Pb(CH3COO)2. Pb(OH)2

48. When propanoic acid is treated with aq. sodium
bicarbonate, carbondioxide is liberated. The
carbon of the carbondioxide comes from :-
(1) Methyl group (2) Carboxylic group
(3) Methylene group (4) Sodium bicarbonate

49. The bonds present in borazole are :-
(1) 12s,  6p (2)  9s,  6p
(3)  6s,  6p (4) 12s,  3p

50. Reaction CH3CH2NH2 NaNO HCl2/¾ ®¾¾¾¾¾ X. The

product of the above reaction is :-
(1) CH3CH2OH (2) CH3CHO

(3) CH3-CH3 (4) CH – C 3 – CH3

O

51. In GaCl2, oxidation state of Ga is :-
(1) +2 (2) –2
(3) 0 (4) +1 and +3

52. Which of the following amides does not undergo
Hoffmann bromamide reaction :-
(1) CH3CONH2 (2) C6H5CONH2

(3) C6H5CH2CONH2 (4) C6H5CONHCH3

53. CaO + C Strong
heating¾¾¾® A 2N¾¾® B. A and B are :-

(1) CaC2 and Ca(CN)2 (2) Ca2C and CaCN2
(3) Ca2C3 and Ca(CN)2 (4) CaC2 and CaCN2

54. Which of the following is not a polyester
(1) Glyptal (2) Dacron
(3) Terylene (4) Bakelite

55. Among the following, the paramagnetic
compound is :-
(1) Na2O2 (2) O3 (3) Na2O (4) KO2

56. The most suitable reagent for the conversion of
R–CH2–OH  R–CHO is –

(1) KMnO4 (2) K2Cr2O7 (3) CrO3 (4) PCC

46. C2H5OH rFkk CaOCl2 dh fØ;k ls CHCl3 cuus esa fuEu
esa ls dkSulk izØe ugha gksrk gS %&

(1) tyvi?kVu (2) vkWDlhdj.k

(3) vip;u (4) Dyksjhuhdj.k

47. White lead gS :-
(1) Pb3O4
(2) PbO
(3) 2PbCO3, Pb(OH)2
(4) Pb(CH3COO)2. Pb(OH)2

48. izksisuksbd vEy dh fØ;k tyh; lksfM;e ckbdkcksZusV ls
djkus ij dkcZu MkbvkWDlkbM fu"dkflr gksrh gS ] rks
dkcZuMkbvkDlkbM esa dkcZu vkrk gS  :-
(1) esfFky lewg ls (2) dkcksZfDlfyd lewg ls
(3) esFkhyhu lewg ls (4) lksfM;e ckbdkcksZusV ls

49. cksjktksy esa dkSuls ca/k mifLFkr gSa :-

(1) 12s,  6p (2)  9s,  6p

(3)  6s,  6p (4) 12s,  3p
50. CH3CH2NH2 

NaNO HCl2 /¾ ®¾¾¾¾ X
mijksä vfHkfØ;k dk mRikn gS %&
(1) CH3CH2OH (2) CH3CHO

(3) CH3-CH3 (4) CH – C 3 – CH3

O

51. GaCl2 esa Ga dh vkWDlhdj.k voLFkk gS :-
(1) +2 (2) –2
(3) 0 (4) +1 and +3

52. fuEu esa ls dkSulk ,ekbM+ gkQesu czksesekbM+ vfHkfØ;k ugh
nsrk gS :-
(1) CH3CONH2 (2) C6H5CONH2

(3) C6H5CH2CONH2 (4) C6H5CONHCH3

53. CaO + C Strong
heating¾¾¾® A 2N¾¾® B. A rFkk B gS :-

(1) CaC2 and Ca(CN)2 (2) Ca2C and CaCN2
(3) Ca2C3 and Ca(CN)2 (4) CaC2 and CaCN2

54. fuEu es ls dkSulk iksyh ,LVj ugha gS
(1) XysIVy (2) MsØksu
(3) Vsjhyhu (4) csdsykbV

55. fn;s x;s fuEufyf[kr esa ls dkSulk vuqpqEcdh; gS :-

(1) Na2O2 (2) O3 (3) Na2O (4) KO2

56. fuEu ifjorZu ds fy, mi;qDr vfHkdeZd gS
R–CH2–OH  R–CHO
(1) KMnO4 (2) K2Cr2O7 (3) CrO3 (4) PCC

J ges'kk eqLdjkrs jgs a A
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57. H2O2 is a :-
(1) monobasic acid (2) dibasic acid
(3) neutral compound (4) weak alkali

58. CH –CH–CH –COOH3 2

Cl

Soda lim e
D

¾¾¾¾® A(Major), A

is :-
(1) CH –CH–CH3 3

Cl

(2) CH3–CH2–CH3

(3) CH3–CH=CH2 (4) CH –CH–CH3 3

OH
59. If a molecule MX3 has zero dipole moment, the

sigma bonding orbitals used by M are :-
(1) pure p (2) sp-hybrids
(3) sp2-hybrids (4) sp3-hybrids

60. In the williamson synthesis of ethers given by
the general equation
R–X  +  R'–ONa ¾® R–OR', the yield form
R–X follows the sequence :-
(1) CH3 >  1°  >  2°  >  3°
(2) CH3 <  1°  <  2°  <  3°
(3) CH3 <  1°  >  2°  >  3°
(4) CH3 >  1°  <  2°  >  3°

61. Likely bond angles of SF4 molecule are :-
(1) 89º, 117º (2) 120º, 180º
(3) 45º, 118º (4) 117º, 92º

62. C2H5OH can be differentiated from CH3OH

(1) Reaction with HCl

(2) Reaction with NH3

(3) By iodoform test

(4) By solubility in water

63. The bond present in N2O5 are :-
(1) Only ionic
(2) Only covalent
(3) Covalent and coordinate
(4) Ionic and covalent

64. Pyroligneous acid contains :-

(1) Acetic acid, acetone and ethanol

(2) Formic acid, acetone and methanol

(3) Methanol, acetic acid and acetone

(4) Formic acid, ethanol and acetone

65. Out of N2O, SO2, I3
+, I3̄ , H2O, NO2̄ , N3̄ , the linear

species are :-

(1) NO2̄ ,  I3
+,  H2O (2) N2O, I3

+,  N3̄

(3) N2O, I3̄ ,  N3̄ (4) N3̄ ,  I3
+, SO2

57. H2O2 gS :-
(1) ,d {kkjdh; vEy (2) f}{kkjdh; vEy
(3) mnklhu ;kSfxd (4) nqcZy {kkj

58. CH –CH–CH –COOH3 2

Cl

Soda lim e
D

¾¾¾¾® A(Major), A

gS :-
(1) CH –CH–CH3 3

Cl

(2) CH3–CH2–CH3

(3) CH3–CH=CH2 (4) CH –CH–CH3 3

OH
59. ;fn v.kq MX3 dks f}/kzqo 'kwU; gks rks flXek ca/k cukus esa

dkSuls d{kd iz;qDr gksaxs :-
(1) pure p (2) sp-hybrids
(3) sp2-hybrids (4) sp3-hybrids

60. fofy;elu la'ys"k.k }kjk bZFkj cuus dh lkekU; vfHkfØ;k
fuEufyf[kr gS
R–X  +  R'–ONa ¾® R–OR', fofHkUu R–X }kjk
mRikn dh yfC/k dk Øe D;k gS :-
(1) CH3 >  1°  >  2°  >  3°
(2) CH3 <  1°  <  2°  <  3°
(3) CH3 <  1°  >  2°  >  3°
(4) CH3 >  1°  <  2°  >  3°

61. SF4 v.kq esa yxHkx ca/k dks.k gksaxs :-
(1) 89º, 117º (2) 120º, 180º
(3) 45º, 118º (4) 117º, 92º

62. C2H5OH dks CH3OH ls foHksfnr fd;k tk ldrk gS
(1) HCl ls fØ;k

(2) NH3 ls fØ;k

(3) vk;ksMksQkeZ ijh{k.k

(4) ty esa foys;rk
63. N2O5 esa dkSuls ca/k mifLFkr gSa :-

(1) dsoy vk;fud
(2) dsoy lagl;kstd
(3) lgla;kstd rFkk milgl;ksatd
(4) vk;fud rFkk lgl;kastd

64. ikbjksfyfXu;l vEy esa dkSuls vo;o gksrs gSa

(1) ,slhfVd vEy] ,slhVksu rFkk ,FksukWy

(2) QkWfeZd vEy] ,lhVksu rFkk esFksukWy

(3) esFksukWy] ,lhfVd vEy rFkk ,slhVksu

(4) QkWfeZd vEy] ,FksukWy rFkk ,slhVksu

65. N2O, SO2, I3
+, I3̄ , H2O, NO2̄ , N3̄  esa dkSulh Lih'kht

js[kh; gS :-

(1) NO2̄ ,  I3
+,  H2O (2) N2O, I3

+,  N3̄

(3) N2O, I3̄ ,  N3̄ (4) N3̄ ,  I3
+, SO2
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66. Glucose molecules react with X number of
molecules of phenyl hydrazene to yield osazone.
The  value  of  X  :-
(1)  3 (2)  2 (3)  1 (4)  4

67. Molecule having trigonal bipyramidal geometry has
sp3d hybridisation. Which d-orbital is involved :-
(1) dxy (2) dyz

(3) 2x y
d 2- (4) 2z

d

68. Isopropyl cyanide can be obtained by the reaction
between :-

(1) CH3CH2CH2I and AgCN

(2) CH3CHBrCH3 and KCN

(3) (CH3)2CHI and AgCN

(4) (CH3)2CHCl and HCN

69. The ionisation energy will be higher when the
electron is removed from : (for same value
principal quantum number):-
(1) s-orbital (2) p-orbital
(3) d-orbital (4) f-orbital

70. A and B in the following reaction are :-

 
HCN

KCN
¾ ®¾¾ A B¾ ®¾  

(1) A = B = NH3

(2)A = B = H O3
Å

(3)A = R2CH2CN B = NaOH

(4) A = B = LiAlH4

71. Increasing order of electron gain enthalpy is:-
(1) N < O < Cl < B (2) O < N < B < Cl
(3) N < B < O < Cl (4) Cl < N < O < B

72. An organic compound (A) on reduction gives
compound (B). (B) on treatment with CHCl3 and
alcoholic KOH gives (C).  (C) on catalytic
reduction gives N-methyl aniline. The compound
A is :-
(1) Methylamine (2) Nitroethane
(3) Aniline (4) Nitrobenzene

66. Xywdksl v.kq] Qsfuy gkbMªsthu ds X v.kqvksa ls fØ;k djds
vkslktksu cukrk gS] X dk eku gS %&
(1)  3 (2)  2
(3)  1 (4)  4

67. ;fn v.kq dk ladj.k sp3d rFkk T;kferh f=dks.kh;
f}fijsfeMh; gks rks d-d{kd gksxk :-
(1) dxy (2) dyz

(3) 2x y
d 2- (4) 2z

d

68. fuEu dh vfHkfØ;k ls vkblksizk sfiy lk;ukbM curk
gS :-

(1) CH3CH2CH2I rFkk AgCN

(2) CH3CHBrCH3 rFkk KCN

(3) (CH3)2CHI rFkk AgCN

(4) (CH3)2CHCl rFkk HCN

69. ;fn eq[; DokaVe la[;k leku gks dkSuls d{kd ls bysDVªkWu

fudkyus esa vf/kd vk;uu ÅtkZ gksxh %&

(1) s-d{kd (2) p-d{kd

(3) d-d{kd (4) f-d{kd

70. fuEu vfHkfØ;k esa A rFkk B gksrs gSa :-

 
HCN

KCN
¾ ®¾¾ A B¾ ®¾  

(1) A = B = NH3

(2)A = B = H O3
Å

(3)A = R2CH2CN B = NaOH

(4) A = B = LiAlH4

71. bysDVªkWu ca/kqrk dk lgh Øe gS :-
(1) N < O < Cl < B (2) O < N < B < Cl
(3) N < B < O < Cl (4) Cl < N < O < B

72. ,d ;kSfxd A vip;u ij ;kSfxd B nsrk gsA ;kSfxd  B

dh CHCl3 vkSj ,Ydksgyh KOH ls fØ;k ij ;kSfxd  C

izkIr gksrk gS] ftlds mRizsjdh vip;u ls N-esfFky ,fufyu

izkIr gksrk gSA ;kSfxd A gS :-

(1) esfFky,ehu (2) ukbVªks,Fksu

(3) ,fufyu (4) ukbVªkscsathu

viuh {kerk dks iwjk olwyus dk iz;kl djs a A
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73. The first ionisation and second ionisation energies
(kj mol–1) of a few elements are shown below :-

IE1 IE2
A 2372 5251
B 520 7300
C 900 1760
D 1680 3380

Which of the above elements is likely to be a
noble gas ?
(1)  A (2) B (3) C (4)  D

74. The helix structure of protein is stabilized by :-
(1) Peptide bond (2) Hydrogen bond
(3) Disulphide bond (4) Vander waal forces

75. Out of the following, amphiprotic species are :-

(I) 
2 2H PO- (II) 2

3HPO -

(III) 2
3HCO - (IV) 

3 2CH CO-

(V) 2
4HPO -

(1) (I), (II), (III),(IV) (2) (I), (IV)
(3) (III), (V) (4) (II), (III), (V)

76. The a line of the balmer series for hydrogen
spectrum occurs at 6562.8 Å. What is the value
for the Rydberg constant ?
(1) 107099 cm–1 (2) 109709 cm–1

(3) 107990 cm–1 (4) 109970 cm–1

77. For a reaction of the type A(s) + 2B(g)�  2C(g),
on equilibrium mixture consists of 3.0 mol of
A, 0.80 mol of B, and 0.40 mol of C, in a 2.00-L
flask. What is the value of KC for this reaction ?
(1) 5.0 × 10–1 (2) 3.3 × 10–1

(3) 2.5 × 10–1 (4) 1.7 × 10–1

78. The ratio of the difference in energy between the
first and second Bohr orbit to that between the
second and third Bohr orbit is :-
(1)  1  /  2 (2)  1  /  3 (3)  4  /  9 (4)  27  /  5

79. The equilibrium constant for a reaction is 1 × 1020

at 300 K, the standard free energy change for this
reaction is :-
(1) – 115 kJ (2) + 115 kJ
(3) + 166 kJ (4) – 166 kJ

80. The shortest l for the Lyman series is .........
(Given RH = 109678 cm–1) :-
(1) 911 Å (2) 700 Å (3) 600 Å (4) 811 Å

81. The relationship between the molar solubility, (z) of
MgF2 in  0.10M Mg(NO3)2 and the Ksp of MgF2
is that z equals :-
(1) (Ksp/0.10)1/2 (2) (Ksp/0.40)1/2

(3) (Ksp/4)1/2 (4) (Ksp)1/2

73. izFke rFkk f}rh;  vk;uu foHko ds eku fn;s x;s gSa
(kj mol–1) :-

IE1 IE2
A 2372 5251
B 520 7300
C 900 1760
D 1680 3380

dkSulk ;qXe vfØ; xSl dks fu:fir djrk gS ?

(1)  A (2) B (3) C (4)  D
74. izksVksu dh gsysDl lajpuk fdlds }kjk LFkk;h gksrh gS :-

(1) isIVkbM ca/k (2) gkbMªkstu ca/k
(3) MkbZ lYQkbM ca/k (4) ok.Mj oky cy

75. fuEufyf[kr esa ls dkSu mHk;/kehZ gksxk :-

(I) 
2 2H PO- (II) 2

3HPO -

(III) 2
3HCO - (IV) 

3 2CH CO-

(V) 2
4HPO -

(1) (I), (II), (III),(IV) (2) (I), (IV)
(3) (III), (V) (4) (II), (III), (V)

76. ;fn gkbMªkstu ijek.kq esa ckej Js.kh dh  a ykbZu(js[kk)
dh rjax nS/;Z 6562.8 Å gks rks fjMcxZ fu;rakd dk eku
gksxk?
(1) 107099 cm–1 (2) 109709 cm–1

(3) 107990 cm–1 (4) 109970 cm–1

77. vfHkfØ;k A(s) + 2B(g)�  2C(g) ds fy, lkE; ij

A ds 3.0 mol B ds 0.80 mol o C ds 0.40 mol]
2 yhVj ds ik= esa mifLFkr gks rks lkE; fLFkjkad KC  gksxk?
(1) 5.0 × 10–1 (2) 3.3 × 10–1

(3) 2.5 × 10–1 (4) 1.7 × 10–1

78.  izFke o f}fr;d d{kk dh ÅtkZ dk vUrj rFkk f}rh;d

o r`rh;kad d{kk dh ÅtkZ dk vUrj dk vuqikr gksxk :-

(1)  1  /  2 (2)  1  /  3 (3)  4  /  9 (4)  27  /  5

79. ,d vfHkfØ;k ds fy, 300K ij lkE; fLFkjkad dk eku

1 × 1020 gks rks blds fy, DGº gksxk :-

(1) – 115 kJ (2) + 115 kJ

(3) + 166 kJ (4) – 166 kJ
80. ykbZeu JS.kh dh lcls NksVh rjaxnS/;Z dk eku gksxk.........

(;fn RH = 109678 cm–1) :-
(1) 911 Å (2) 700 Å (3) 600 Å (4) 811 Å

81. MgF2 dh foys;rk (z) dk eku 0.10M Mg(NO3)2
foy;u esa gksxkA ;fn MgF2 dk foy;u xq.kuQy Ksp
gaS :-
(1) (Ksp/0.10)1/2 (2) (Ksp/0.40)1/2

(3) (Ksp/4)1/2 (4) (Ksp)1/2
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82. The difference in angular momentum associated
with the electron in two successive orbits of
hydrogen atom is :-
(1) h / p (2) h/2p
(3)  h  /  2 (4) (n–1)h / 2p

83. How many moles of helium gas occupy 22.4 L at
30.0ºC and 1.00 atm ?
(1) 0.110 (2) 0.900
(3) 1.00 (4) 1.11

84. Which of the following suggested de Broglie
wavelengths is not possible for the electron in
a Bohr orbit of hydrogen atom ?
(1) 3.30 Å (2) 4.98 Å
(3) 9.96 Å (4) 19.92 Å

85. Which of the following reactions represents
disproportionation ?
(1) CrO5 ¾® Cr3+ +  O2
(2) 2HCl ¾® H2 + Cl2
(3) CrO2Cl2 + NaOH ¾® Na2CrO4 + NaCl + H2
(4) Na2S2O3 +  H2SO4 ¾® Na2SO4 + SO2

         +  S8 +  H2O
86. Choose the incorrect relations on the basis of Bohr

theory :-
(1)Velocity of electron µ  1  /  n
(2) Frequency of revolution µ 1  /  n3

(3) Radius of orbit µ 1  /  n4

(4) Force on electron µ  1  /  n4

87. Number of electrons taken up by nitrogen
atom when a NO+ ion is reduced to
NH2OH is  :-

(1)  2 (2)  4 (3)  5 (4)  6

88. For which of the following substances does
0
fH 0D = ?

(1) Br2(g) (2) N(g) (3) C(g) (4) Ne(g)
89. What is the concentration of H+ in a solution that

is prepared by mixing 50.0 ml of 0.50M HCl with
200.0 ml of 0.25M HCl ?
(1) 0.30 M (2) 0.35 M
(3) 0.40 M (4) 0.45 M

90. For which process would DSº be expected to have
the greatest positive value ?
(1)  O2(g) +2H2(g) ¾® 2H2O(g)
(2)  H2(g)  +  O2(g) ¾® H2O2(l)
(3)  H2(g)  +  I2(g) ¾® 2HI(g)
(4)  N2O4(g) ¾® 2NO2(g)

82. nks Øekxr d{kdks ds fy, dks.kh; laosx dk varj gksxk:-

(1) h / p (2) h/2p

(3)  h  /  2 (4) (n–1)h / 2p

83. 22.4 L He xSal esa mifLFkr eksyks dh la[;k 30.0ºC  o
1.00 atm  nkc ij gksxh ?
(1) 0.110 (2) 0.900
(3) 1.00 (4) 1.11

84. fuEufyf[kr esa ls dkSulh Mh&czksxyh rjaxnS /; gkbMªkstu
ijek.kq ds fy, lEHko ugha gSa ?

(1) 3.30 Å (2) 4.98 Å

(3) 9.96 Å (4) 19.92 Å

85. fuEufyf[kr esa ls dkSulh vfHkfØ;k fo"kehdj.k dks n'kkZrh
gSa ?
(1) CrO5 ¾® Cr3+ +  O2
(2) 2HCl ¾® H2 + Cl2
(3) CrO2Cl2 + NaOH ¾® Na2CrO4 + NaCl + H2
(4) Na2S2O3 +  H2SO4 ¾® Na2SO4 + SO2

         +  S8 +  H2O
86. cksgj fl¼kUr fuEu esa ls fdl ij ykxw ugh gksrk gSa :-

(1) bysDVªkWu dk osx µ  1  /  n

(2) pØ.k dk vkoÙ̀kh µ 1  /  n3

(3) d{kk dh f=T;k µ 1  /  n4

(4) bysDVªkWu ij cy µ  1  /  n4

87. tc NO+ vk;u NH2OH esa vipf;r gksrk gSaA rks bl
izØe esa ukbVªkstu ijek.kq }kjk xzg.k fd;s x;s bysDVªksu dh
la[;k gksxh :-
(1)  2 (2)  4 (3)  5 (4)  6

88. fuEu esa ls fdldk 0
fH 0D =  gksxk ?

(1) Br2(g) (2) N(g)

(3) C(g) (4) Ne(g)

89. ,d foy;u ftldks 50 ml 0.5M HCl o 200.0 ml,
0.25 HCl ds lkFk feykdj cuk;k x;k gSA foy;u esa
H+ vk;uksa dh lkUnzrk gksxh ?
(1) 0.30 M (2) 0.35 M
(3) 0.40 M (4) 0.45 M

90. fuEufyf[kr esa ls fdl vfHkfØ;k ds fy, DSº vf/kdre
/kukRed gksxk ?
(1)  O2(g) +2H2(g) ¾® 2H2O(g)
(2)  H2(g)  +  O2(g) ¾® H2O2(l)
(3)  H2(g)  +  I2(g) ¾® 2HI(g)
(4)  N2O4(g) ¾® 2NO2(g)

Time Management is Life Management
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91. Improved variety of wheat 'Sonalika' is developed
by which method :-

(1) Introduction (2) Mutation breeding

(3) Hybridisation (4) Tissue Culture

92.

B

AC
Actin binding sites

The above figure is related with myosin monoer
(Meromyosin). Identify A to C-
(1) A-head, B-cross arm, C-GTP binding sties
(2) A-head, B-cross arm, C-Ca+2 binding sites
(3) A-head, B-cross arm, C-ATP binding sites
(4) A-cross arm, B-head, C-ATP binding sites

93. 'Pusa swarnim' variety is resistant to white rust
disease. It is a variety of :-

(1) Wheat (2) Brassica

(3) Chilli (4) Cauliflower
94. Following is the figure of atin (thin) filaments.

Identify A, B and C.

A
B
C

(1) A-Tropomyosin, B-Troponin, C-F,- actin
(2) A-Troponin, B-Myosin, C-Tropomyosin
(3) A-Troponin, B-Tropomyosin, C-Myosin
(4) A-Troponin, B-Tropomyosin, C-F-actin

95. Breeding crop with higher levels of nutrients, to
improve public health is called :-
(1) Organic farming    (2) Biofortification
(3) Bio informatics     (4) Genetic enginering

96. In acquired immunity, lymphocytes provide
specific defenses against infections. A lymphocyte
actually recognizes and binds to just a small,
accessible portion of an antigen, called :-
(1) paratope
(2) Fab (antigen binding fragment)
(3) epitope
(4) FC (crystallisable fragment)

97. Which statement is true –
(1) Coacervates has lipid membrane arround it
(2) During evolution protein form before glucose
(3) Coacervates term given by oparin
(4) First autotrophs are photoautotrophs

91. xsgw¡ dh mUur fdLe 'lksukfydk ' fdl fof/k }kjk fodlhr
dh x;h gS :-

(1) iqj%LFkkiu (2) mRifjorZu iztuu
(3) ladj.k (4) Ård lao/kZu

92.

B

AC
Actin binding sites

mijksDr fp= ek;k sflu ,dyd (ehjk sek;ksflu) ls
lEcfU/kr gSA A ls C dks igpkfu;s&
(1) A-head, B-cross arm, C-GTP binding sties
(2) A-head, B-cross arm, C-Ca+2 binding sites
(3) A-head, B-cross arm, C-ATP binding sites
(4) A-cross arm, B-head, C-ATP binding sites

93. 'iqlk Lof.kZe ' fdLe 'osr fdV~V jksx ds fy;s izfrjks/kh gSA
;g fuEu dh fdLe gS :-

(1) xsgw¡ (2) czslhdk
(3) fephZ (4) QwyxksHkh

94. fp= ,fDVu (lw{e) rarqvksa dks n'kkZ jgk gSA  A, B rFkk
C dks igpkfu;s&

A
B
C

(1) A-Tropomyosin, B-Troponin, C-F,- actin
(2) A-Troponin, B-Myosin, C-Tropomyosin
(3) A-Troponin, B-Tropomyosin, C-Myosin
(4) A-Troponin, B-Tropomyosin, C-F-actin

95. tu LokLF; dks lq/kkjus ds fy;s mPp Lrj ds iks"kd inkFkksZ
okyh Qly mxkuk dgykrk gS :-
(1) dkcZfud Ïf"k (2) tSo iq"Vhdj.k
(3) Bio informatics (4) tSo vHkh;kaf=dh

96. mikftZr izfrj{kk esa ylhdk.kq] laØe.kksa ds fo:ð fof'k"V
lqj{kk iznku djrh gSA ,d ylhdk.kq okLro esa izfrtu ds
,d y?kqHkkx dks igpkurh gSa rFkk mlls caf/kr gksrh gS] tks
dgykrk gS :-
(1) iSjkVksi
(2) Fab (izfrtu ca/ku Hkkx)
(3) ,fiVksi
(4) FC (fØLVyhÏr Hkkx)

97. dkSulk dFku lR; gS –
(1) dkstjosV~l ds pkjksa rjQ yhihM f>Yyh mifLFkr Fkh
(2) mf}dkl ds nksjku çksVhu dk fuekZ.k Xywdkst ls igys gqvk FkkA
(3) dkstjosV~l 'kCn vksisfju us fn;k FkkA
(4) çFke Loiks"kh çdk'khd Loiks"kh FksA

J ges'kk eqLdjkrs jgsa A
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98. (a) Patrol the body and attack virus-infected
cells and cancer cells

(b) cause Apoptosis of target cells
(c) defence is not 100% effective
(d) mature in blood
(e) don't need antigen presentation for their action
(f) contain perforins and granzymes
above given statements are correct for :-
(1) Professional phagocytes
(2) N.K.cells
(3) Dendritic cells
(4) Antigen presenting cells

99. Origin of first vertebrate took place in –
(1) Ordovician period
(2) Carboniferous period
(3) Devonian period
(4) Permian period

100. Four events A, B, C and D occurs during mitosis
in the following sequence

B ¾® D ¾® C ¾® A
Choose the correct match for A, B, C and D from
the following :-
(i) Chromosomes decondense
(ii) Chromatids moves to opposite pole
(iii) Centrioles moves toward opposite pole
(iv) Chromosomes arrange on equator
(1) A ® (iv) B ® (iii) C ® (ii) D ® (i)
(2) A ® (ii) B ® (i) C ® (iii) D ® (iv)
(3) A ® (i) B ® (iii) C ® (ii) D ® (iv)
(4) A ® (iv) B ® (ii) C ® (iii) D ® (i)

101. Testes in male and ovaries in females are example
of  –
(1) Analogous organ (2) Homologous organ
(3) Vestigial organ (4) None

102. (a) Particles observed by George palade are
composed of two subunits

(b) Cilia causing the movement of either the cell
or the surrounding fluid

(c) The ribosomes on ER are bigger than the
cytoplasmic ribosomes

(1) a, b correct and c incorrect

(2) a incorrect and b, c correct

(3) a, b incorrect and c correct

(4) a correct and b, c incorrect

98. (a) 'kjhj dks pyk;eku j[krh gS rFkk fo"kk.kq laØfer
dksf'kdkvksa dks u"V djrh gS

(b) VkjxsV dksf'kdk dh apoptosis djrh gS
(c) lqj{kk 100% izHkkoh ugha gS
(d) jDr esa ifjiDo
(e) dk;Z gsrq izfrtu izn'kZu dh vko';drk ugha
(f) ijQksfjUl o xzSUtkbEl mifLFkr
Åij fn;s x;s dFku fdlds fy, lgh gS :-
(1) O;olkf;d Hk{kk.kqd
(2) izkÏfrd ekjd dksf'kdk;sa
(3) MsfUMªfVd dksf'kdk;sa
(4) izfrtu izn'kZu dksf'kdk;sa

99. çFke d'ks:dh dh mRiÙkh gq;h Fkh –
(1) Ordovician period
(2) Carboniferous period
(3) Devonian period
(4) Permian period

100. lelw=h foHkktu ds nkSjku pkj ifj?kVuk,¡ A, B, C ,oa
D fuEu Øe esa gksrh gSA

B ¾® D ¾® C ¾® A

fuEu esa ls A, B, C ,oa D ds fy, lgh feyku pqfu,%&

(i) Øksekslkse fola?kuhdj.k

(ii) v/kZxq.klw= dh foijhr /kwzoksa dh vksj xfr

(iii) rkjddsUnz foijhr /kwzoksa dh vkSj xfr djrs yxrs gSA

(iv) Øksekslkse e/; js[kk ij O;ofLFkr gksrs gSA
(1) A ® (iv) B ® (iii) C ® (ii) D ® (i)
(2) A ® (ii) B ® (i) C ® (iii) D ® (iv)
(3) A ® (i) B ® (iii) C ® (ii) D ® (iv)
(4) A ® (iv) B ® (ii) C ® (iii) D ® (i)

101. uj ds o`"k.k o eknk ds v.Mk'k; fuEu ds mnkgj.k
gS –
(1) leo`Ùkh vax (2) letkr vax
(3) vo'ks"kh vax (4) dksbZ ugha

102. (a) tktZ isykMs }kjk ns[ks x;s d.k] nks mibdkb;ksa ls cus
gksrs gSA

(b) i{ekHk ;k rks dksf'kdk esa xfr djokrs gS ;k mlds pkjks
vkSj feyus okys nzo esa

(c) ER ij mifLFkr jkbckslksEl] dksf'kdknzO;h jkbckslkseksa
ls cM+s gksrs gSA

(1) a, b lgh ,oa c xyr

(2) a xyr ,oa b, c lgh
(3) a, b xyr ,oa c lgh

(4) a lgh ,oa b,  c  xyr
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103. Mule is a hybrid. Which of the following
statement is correct –
(1) Mule is not a species
(2) Mule is a new species
(3)Horse and ass are two population
(4)Mule represents a common ancestor of horse

and ass
104. Insuline is an important hormone for human which

is synthesized in b cell of pancreas. The secretion
of insuline by b cell is mediated through

(1) Mitochondria (2) Lysosome

(3) Golgi body (4) Peroxisome

105. The wings of an insect and a bat exhibit –
(1) Homology (2) Analogy
(3) Atavism (4) Connective link

106. The chloroplast contain :-

(1) Photosynthetic pigments are located in stroma

(2) Enzyme for dark reaction located in thylakoids

(3) Ribosome similar in size and density to that
of mammalian mitochondria

(4) ds DNA in stroma

107. Embryo culture is mostly used for –
(1) Establishing suspension culture
(2) Recovery of interspecific hybrids
(3) Somatic hybridisation
(4) Haploid plant production

108. A DNA chain is:-
(1) 5' phosphate end and 3' phosphate end
(2) 5' phosphate end and 3' OH end
(3) 5' OH end and 3' phosphate end
(4) 5' OH end and 5' phosphate end

109. Match the different types of spores listed under
column I with the names of the organism given
under column II.

Column I Column II
(Spores) (Organism)

A. Ascopores p. Diatoms
B. Endospores q. Agaricus
C. Auxospores r. Bacteria
D. Basidiospores s. Yeast

t. Nephrolepis

Options -
(1) A = s B =t C = p D = q
(2) A = s B = p C = t D = q
(3) A = s B = p C = r D = q
(4) A =s B = r C = p D = q

103. Mule ,d ladj gSA fuEu esa ls dkSulk dFku lR ; gS –
(1) Mule ,d tkfr ugha gSA
(2) Mule ,d u;h tkfr gSA
(3) ?kksM+ s o x/ks nks lef"V;k¡ gSA
(4) Mule fu:fir djrk gS fd ?kksM+s o x/ks dk iwoZt ,d

gh gSA
104. bUlwfyu euq";ks ds fy, ,d egRoiw.kZ gkWeksZu gs ftldk

fuekZ.k vXuk'k; dh b dksf'kdk esa gksrk gSA b dksf'kdk }kjk
bUlwfyu dk L=ko.k fdlds }kjk gksrk gS%&

(1) ekbVksdkWfUMª;k (2) y;udk;
(3) xkYth dk; (4) ijvkfDllkse

105. dhV ds ia[k o pedknM + ds ia[k fu:ihr djrs gSa  –
(1) letkrrk (2) le:irk
(3) iwoZtrk (4) la;kstd dM+h

106. gfjr yod j[krs gS%&

(1) LVªksek ds vUnj izdk'k la'ys"kh o.kZd
(2) FkkbysdkbM~l ds vUnj vizdk'kh; fØ;k ds ,Utkbe
(3) jkbck slk se tk s vkdkj ,oa ? kuRo es a Lru/kkjh

ekbVksdkWfUMª;k ds jkbckslkse ds leku gksrs gSA
(4) LVªksek esa ds DNA

107. Hkwz.k lao/kZu dk vf/kdrj mi;ksx fd;k tkrk gS  –
(1) fuyEcu lao/kZu dks LFkk;h j[kus ds fy;s
(2) varjtkrh ; ladj dks cpkus ds fy;s
(3) dkf;d ladj.k ds fy;s
(4) vxqf.kr ikniksa ds mRiknu ds fy;s

108. Mh-,u-,- dh ,d J`a[kyk gksrh gS :-
(1) 5' QkWLQsV fdukjk rFkk 3' QkWLQsV fdukjk
(2) 5' QkWLQsV fdukjk rFkk 3' OH fdukjk
(3) 5' OH fdukjk rFkk 3' QkWLQsV fdukjk
(4) 5' OH fdukjk rFkk 5' QkWLQsV fdukjk

109. dkWye -I eas fn, x, fofHkUu izdkj ds chtk.kqvksa dk dkWye -

II esa fn, x, ltho ds lkFk esy dhft, &

dkWye I dkWye II
(chtk.kq) (ltho)

A. ,Ldks chtk.kq p. Mk;Ve
B. vUr% chtk.kq q. ,xsfjdl
C. vkWDtks chtk.kq r. thok.kq
D. csflfM;ksa thok.kq s. ;hLV

t. usÝksysfit
Options -
(1) A = s B =t C = p D = q
(2) A = s B = p C = t D = q
(3) A = s B = p C = r D = q
(4) A =s B = r C = p D = q



11–02–2013TARGET : PRE-MEDICAL 2013 (NEET-UG)

18/30  HYour Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

110. Father of experimental genetics T.H. Morgan
work on :-
(1) Garden Pea (2) Drosophila
(3) Hieracium (4) None

111. The odd one amongest following is :-
(1) Nitrococcus, Nitrobacter, Nitrosomonas
(2) Rhizobium, Aulosira, Bacillus, Polymyxa
(3) Clostridium, Rhizobium, Nostoc
(4) Anabaena, Nostoc, Azotobacter, Clostridium

112. Which of the following is not a discontinuous
germianl variation :-
(1) Hairless cats
(2) Number of grains in ear of wheat
(3) Polydactyly in human
(4) Short legged ancon sheep

113. Which of these is correct statement :-
(1) Bryophytes are the first vascular cryptogames
(2) All pteridophytes require water for fertilization

and are homosporous
(3) Cordaitales are abundant in coniferous forests
(4) Gymnosperms are spermatophytes to have

naked ovules
114. Albinism is determined by a recessive gene in

man. The presence of albinism in 50% children
born to a couple proves that :-
(1) Both parents are heterozygous
(2) Father is homozygous normal and mother is

albino
(3) Both parents are homozygous
(4) Father is carrier and mother is albino

115. Multicellular branched rhizoids and leafy
gametophytes are characteristic of :-

(1) All bryophytes (2) Some bryophytes

(3) All pteridophytes (4) Some pteridophytes

116. How many of the following statement is/are
correct with respect to menstrual cycle ?
(A) The first menstruation begins at puberty and

is called menopause
(B) Menstruation only occurs if the released ovum

is not fertilised.
(C) During pregnancy all events of the menstrual

cycle stop and there is no menstruation

(D) In mammals, menstrual cycles Ceases around
50 years of age

(1) Four (2) Three (3) Two (4) One

110. Father of experimental genetics T.H. Morgan us
dk;Z fd;k :-
(1) eVj ij (2) MªkslksfQyk ij
(3) gkbjsf'k;e ij (4) dksbZ ugha

111. fuEufyf[kr esa ls  ,d fo"ke gSa :-
(1) ukbVªksdkWdl] ukbVªkscsDVj] ukbVªkslkseksukl
(2) jkbtksfc;e] vkWyksfljk] csflyl] iksfyfeDlk
(3) DyksLVªhMh;e] jkctksfc;e] ukWLVkWd
(4) ,ukfcuk] ukWLVkWd] ,tksVkscsDVj] DyksLVªhMh;e

112. fuEu esa ls dkSulk vlrr~ tufud fofHkUurk ugha gS  :-

(1) ckyjfgr fcfYy;k¡

(2) xsgw¡ dh ckyh esa nksuksa dh la [;k

(3) ekuo esa polydactyly

(4) NksVs ikoksa (iSjks)okyh ancon HksM+
113. buesa ls dkSulk lgh dFku gSa  :-

(1) czks;ksQkbVk izFke laoguh fØIVksxsEl gSA

(2) lHkh V sfjMksQkbV dk s fu"k spu ds fy, ty dh

vko';drk gksrh gS ,oa lechtk.kqd gSA

(3) 'kadq/kkjh ou esa dksjMsVsYl vR;kf/kd ek=k esa gSA

(4) ftEuksLieZ ,sls LijesVksQkbV gS tks [kqyk chtk.M j[krs gSaA
114. ekuo esa jatdghurk vizHkkoh thu  }kjk fu/kkZfjr gksrk gSA

fdlh iSr`dh; tksM+s ds 50% cPpksa esa jatdghurk dh

mifLFkfr fl¼ djrh gS fd :-

(1) nksuksa iSr̀d fo"ke;qXeh gSA

(2) firk le;qXeh lkekU; o ekrk jatdghu gSA

(3) nksuksa iSr`d le;qXeh gSA

(4) firk okgd o ekrk jatdghu gSA

115. cgqdksf'kdh; 'kkf[kr ewykHkkl ,oa i.kZ;qDr ;qXedksn~fHkn
bldk y{k.k gSa :-
(1) lHkh czk;ksQkbV (2) dqN czk;ksQkbV
(3) lHkh VsfjMksQkbV (4) dqN VsfjMksQkbV

116. vkrZo PkØ ds lanHkZ esa fuEu esa ls fdrus dFku lR; gSa ?

(A) izFke jtks/keZ dh 'kq:vkr ;kSoukjaHk ij 'kq: gksrh gS]

ftls jtksfuo`fÙk dgrs gSA

(B) jtks/keZ rHkh vkrk gS tc eksfpr vaMk.kq fu"ksfpr ugh

gqvk gSA

(C) lxHkZrk ds nkSjku vkrZo pØ dh lHkh ?kVukWa, can gks

tkrh gS blhfy, bl le; j/kks/keZ ugh gksrk gSA

(D) Lru/kkfj;ksa esa vkrZo pØ 50 o"kZ dh vk;q ds yxHkx

can gks tkrk gSA

(1) pkj (2) rhu (3) nks (4) ,d
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117. Sexual reproduction of spirogyra is :-
(1) Morphological as well as physiological

isogamy
(2) Morphological as well as physiological

anisogamy
(3) Morphological isogamy & physiological

anisogamy
(4) Morphological anisogamy and physiological

isogamy
118. Match the items in column-I with those in column-

II and find out the correct answer ?
    Column-I           Column-II

A. Leydig cells (i) Fructose
B. Sertoli cells (ii) Present only in

male mammal
C. Seminal vesicle (iii) Nutrition to germ

cells
D. Cowper's gland (iv) Androgens
E. Prostate gland (v) Lubrication of

penis
(1) A-(iv), B-(iii), C-(i), D-(v), E-(ii)
(2) A-(iv), B-(iii), C-(v), D-(i), E-(ii)
(3) A-(iv), B-(i), C-(iii), D-(ii), E-(v)
(4) A-(ii), B-(iii), C-(v), D-(iv), E-(i)

119. “The asexual spores are not found, but vegetative
reproduction by fragmentation is common”
Which one is the suitable example in fungi for
above statement ?
(1) Ustilago (2) Colletotrichum
(3) Trichoderma (4) Aspergillus

120. Which of the following process of reproductive
event occurs after fertilisation ?
(1) Acrosomal reaction
(2) Cortical reaction
(3) Capacitation
(4) Morphogenetic movements

121. What will be the correct ploidy sequence in the
mentioned below ?
(A) Protonemal cell of a moss
(B) Gymnospermic endosperm
(C) Leaf cell of a moss
(D) Prothallus cell of a fern
(E) Gemma cell in marchantia
Option -
(1) n, 3n, n, 2n, n (2) n, n, n, n, n
(3) n, 2n, n, 2n, 2n (4) n, 2n, n, n, 2n

117. Likbjksxk;jk dk ySafxd tuu gksrk gSa  :-

(1) vkdkfjdh ,oa dkf;Zdh esa le;qXedhA

(2) vkdkfjdh ,oa dkf;Zdh esa fo"ke;qXehA

(3) vkdkfjdh esa  le;qXedh rFkk dkf;Zdh esa  fo"ke;qXedhA

(4) vkdkfjdh esa  fo"ke;qXedh rFkk dkf;Zdh esa  le;qXedhA

118. dkWye-I dh lajpukvksa dks dkWye-II ls feykb, rFkk lgh

mÙkj dk p;u dhft, ?

      dkWye-I            dkWye-II

A. ysfMx dksf'kdk,¡ (i) ÝDVkst
B. lVksZyh dksf'kdk,¡ (ii) dsoy uj Lru/kkjhvksa  esa

mifLFkr
C. 'kqØk'k; (iii) teZ dksf'kdkvksa dks

iks"k.k
D. dkÅij xzafFk (iv) ,aMªkstu

E. izksLVsV xzafFk (v) f'k'u dk Lusgu
(1) A-(iv), B-(iii), C-(i), D-(v), E-(ii)
(2) A-(iv), B-(iii), C-(v), D-(i), E-(ii)
(3) A-(iv), B-(i), C-(iii), D-(ii), E-(v)
(4) A-(ii), B-(iii), C-(v), D-(iv), E-(i)

119. “vySafxd chtk.kq ugh ik, tkrs gS]  ijUrq dkf;d tuu
fo[k.Mu ds }kjk lkekU; gSA” QUtkbZ esa dkSulk ,d mfpr
mnkgj.k mijksDr dFku ds fy, gSa ?

(1) ;wLVhysxks (2) dkWysVksVªkbde

(3) VªkbdksM+ekZ (4) ,Lijftyl

120. tuu ?kVukvksa dh dkSu lh izfØ;k fu"kspu ds i'pkr gksrh gS?

(1) ,Økslksey izfrfØ;k
(2) dkfVZdy  izfrfØ;k

(3) dSisflVs'ku

(4) lajpuk fodkl xfr
121. uhps fn, x, esa lgh xqf.krk dh J`[kayk D;k gksxh  ?

(A) ekWl dh izksVksfuek dksf'kdk
(B) ftEuksLieZ dk Hkzq.kiks"k
(C) ekWl dh i.kZ dksf'kdk
(D) QuZ dh izksFkSyl dksf'kdk
(E) ekdsZfU'k;k dh tsek dksf'kdk
fodYi -

(1) n, 3n, n, 2n, n (2) n, n, n, n, n

(3) n, 2n, n, 2n, 2n (4) n, 2n, n, n, 2n

viuh {kerk dks iwjk olwyus dk iz;kl djs a A
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122. If medulla oblongata is destroyed then which of
the following function will be effected ?
(1) No olfaction
(2) No visual reflex
(3) No thermoregulation
(4) No response when prickled with needle.

123. Which of the following taxa show zoodiogamous
oogamy ?
(A) Spirogyra (B) Funaria
(C) Pteris (D) Cycas
(1) A, B and C (2) A, C and D
(3) A, B and D (4) B and C

124. Transportation of which hormone peformed by
axon of neuron and then by blood stream ?
(1) Thyroxine (2) Oxytocin
(3) Cortisol (4) Aldosterone

125. Select the incorrect statement in the following :-
(1) In green algae sexual reproduction may be

isogamas, anisogamous or oogamous
(2) In red Algae sexual reproduction is oogamous

and accompanied by complex post
fertilization development

(3) In brown Algae sexual reproduction may be
isogamous, Anisogamous or oogamous.

(4) In Bryophyta zygote undergo reduction
division immediately

126. If Stimulus present in neuron, it represents:-
(1) Excited condition - permeability for K+ ions

by K+ VGC
(2) Polarised condition – permeability for Na+ ions

by Na-k-pump
(3) Excited condition - permeability for Na+ ions

by K+ VGC and impermeability for K+ by
passive channels

(4) Excited condition- High premeability for Na+

ions and nearly impermeability for K+.
127. Which of the following is not an example of

intergenic interation ?

(1) Duplicate gene (2) Additive gene

(3) Collaborative gene (4) Co-dominance
128. Find out correct matching set :-

Excretory Examples
Structures
(1) Nephridia Earthworm, Prawn
(2) Malpighian Cockroaches, Ascaris

tubules
(3) Kidney Planaria, Frog
(4) Protonephridia Planaria, Amphioxus

122. ;fn esM~yk vkCyksaxsVk u"V gks tkos rks fuEu esa ls dkSulk
dk;Z izHkkfor gksxk ?
(1) ?kzk.k fØ;k can gksuk
(2) n`f"V fØ;k can gksuk
(3) 'kkjhfjd rkiØe fu;eu can gksuk
(4) lqbZ Hksnu ij dksbZ fØ;k u gksuk

123. fuEu esa ls dkSuls VsDlk twMh;ksxsel v.M;qXedh iznf'kZr
djrs gS ?
(A) Likbjksxk;jk (B) ¶;wusjf;k
(C) Vsjhl (D) lkbdl
(1) A, B rFkk C (2) A, C rFkk D
(3) A, B rFkk D (4) B rFkk C

124. fdl gkeksZu dk LFkkukUrj.k U;wjkWu rFkk ckn esa jä ekxZ ds
}kjk gksrk gS ?
(1) FkkbjkWfDlu (2) vkWDlhVkWlhu
(3) dkWVhZlkssy (4) ,YMksLVhjkWu

125. fuEufyf[kr esa ls xyr dFku dks fpfu,  :-
(1) gjs 'kSoky esa ySafxd tuu le;qXedh ] fo"ke;qXedh

;k v.M;qXedh izdkj dk gks ldrh gSA
(2) yky 'kSoky esa ySafxd tuu v.M;qXedh gS rFkk tfVy

i'p fu"kspu fodkl ds }kjk lEiUu gksrk gSA
(3) Hkwjs 'kSoky esa ySfxd tuu le;qXedh] fOk"k;qXedh ;k

v.M;qXedh izdkj dk gks ldrk gSA
(4) czk;ksQkbVk esa ;qXetu esa U;qure foHkktu 'kh?kz gks tkrk gSA

126. ;fn U;wjkWu esa míhiu mifLFkr gS] rks ;g n'kkZrk gS :-

(1) mÙksftr voLFkk - K+ VGC ds }kjk K+ dh ikjxE;rk

(2) /kq zoh;dj.k voLFkk– Na-k-iEi }kjk Na+  dh

ikjxE;rk

(3) mÙksftr voLFkk - K+ VGC }kjk Na+ dh ikjxE;rk

rFkk fuf"Ø; psuyksa }kjk K+ dh vikjxE;rk

(4) mÙksftr voLFkk - Na+  dh mPp ikjxE;rk rFkk K+

ds fy, yxHkx vikjxE;rk
127. fuEu esa dkSulk bUVjtsfud vU;ksU; fØ;k dk mnkgj.k ugha

gS :-

(1) f}d thu (2) ;ksxkRed thu
(3) dksyscksjsfVo thu (4) lgizHkkfodrk

128. lgh feyku leqPp; dks NkafV;s %
mRlthZ jpuk;s a    mnkgj.k
(1) usÝhMh;k dsapqvk] izkWu
(2) eSYih?kh dkWdjksp] ,Ldsfjl

ufydk;sa
(3) o`Dd Iysusfj;k] esa<d
(4) izksVksusÝhfM;k Iysusfj;k] ,EQhvkWfDll
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129. In a family, male is carrier for albinism and female

is albino, then what will be probability of

minimum one albino out of three children ?

(1) 
3
8

(2) 
1
8

(3) 
7
8

(4) 
3
8

+
1
8

130. Read the following statements :-
(A) High HÅ concentration and higher

temperature are favourable for dissociation of
oxygen from oxyhaemoglobin.

(B) Partial pressure of oxygen in alveoli is higher
than in tissue.

(C) The maximum volume of air a person can
breath in after a forced expiration is vital
capacity.

(D) In alveoli PCO2
 low and PO2

 high are for
dissociation of CO2 from carbamino-
haemoglobin.

How many statements are corect ?
(1) One (2) Two (3) Three (4) Four

131. X–linked recessive gene easily expresses itself

in  ?

(1) 2A + xy (male)

(2) 2a + xx (female)

(3) 2A + xo (female) Turner syndrome

(4) 1 and 3 both
132. The hormone which check on the renin

angiotensin mechanism is released by :-
(1) Kidney (2) Hypothalamus
(3) Heart (4) Lungs

133. In Nicotiana four alleles S1, S2, S3 and S4 governed

self sterility. Which of the following genotype is

not possible in progenies ?

(1) S2S3 (2) S1S2 (3) S3S3 (4) S3S4

134. Which of the following statements are correct:-
(A) Systemic circulation takes place between left

ventricle and right atrium of heart.
(B) Adrenal medullary hormones can decrease the

cardiac output.
(C) Heart failure is not the same as cardiac arrest

or heart attack.
(D) The opening between the right atrium and the

right ventricle is guarded by a value formed
of two muscular flaps.

(1) Two (2) One (3) Four (4) Three

129. ,d ifjokj esa  uj jatdghurk dk okgd rFkk eknk jatdghu
gSA buds rhu cPpksa eas de ls de ,d jatdghu gksus dh
izkf;drk D;k gksxh ?

(1) 
3
8

(2) 
1
8

(3) 
7
8

(4) 
3
8

+
1
8

130. fuEu dFkuksa dks if<+;sa :-

(A) mPp HÅ lkUærk rFkk mPp rkieku vkDlhgheksXykschu
ls vkDlhtu ds fo;kstu ds fy;s vuqdwy gksrs gSA

(B) vkDlhtu dk vka f'kd nkc dwfidk esa  Årdks dh rqyuk

esa vf/kd gksrk gSA

(C) cyiwoZd mPp 'olu ds ckn ok;q dh og vf/kdre

ek=k tks ,d O;fDr var%'okflr (Inspired) dj

ldrk gS] mls tSo {kerk (Vital capacity) dgrs gSA

(D) dwfidk esa fuEu PCO2
 rFkk mPp PO2

 dkcZ,ehuks

gheksXyksfcu ls CO2 ds fo;kstu ds fy;s gksrs gSA

fuEu esa ls fdrus dFku lgh gS  %&

(1) ,d (2) nks (3) rhu (4) pkj

131. X–lgyXu vizHkkoh thu vklkuh ls viuk izHkko fdlesa
izdV djrh gS ?

(1) 2A + xy (male)

(2) 2a + xx (female)

(3) 2A + xo (female) Turner syndrome

(4) 1 o 3 nksuksa
132. gkWeksZu tks jsfuu ,fUtvksVsfUlu fØ;kfof/k ij fu;a=d dk

dke djrk gS] mldk L=o.k fdlds }kjk gksrk gS :-
(1) o`Dd (2) gkbiksFkSysel
(3) ân; (4) QsQMs+

133. fudksfV;kuk  esa 4–,fyYl S1, S2, S3 rFkk S4 LocU/;rk
dk fu;U=.k djrh gSA fuEu esa ls lUrfr;ksa dk thu izk:i
D;k ugha gks ldrk gS ?

(1) S2S3 (2) S1S2 (3) S3S3 (4) S3S4

134. fuEu esa ls fdrus dFku lgh gS :-
(A) nSfgd lapj.k ân; ds cka;s fuy; rFkk nka;s vkfyUn

ds chp gksrk gSA
(B) ,Mªhuy esMwyk ds gkWeksZUl dkWfMZ,d vkmViqV dks ?kVkrs

gSA
(C) ân; Qsy dks ân?kkr (cardiac arrest) ;k ân;ikr

(Heart attack) ds leku ugha gksrkA
(D) nka;s vkfyUn rFkk nka;s fuy ; ds e/; mifLFkr jU/kz

dk fu;a=.k ,d dikV djrk gS tks nks iYyks (¶ySIl)
dk cuk gksrk gSA

(1) nks (2) ,d (3) pkj (4) rhu

Time Management is Life Management
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135. Discontinuous variations are due to :-
(1) Crossing over
(2) Mutation
(3) Segregation of chromosome
(4) Independent assortment

136. Mammary glands are the modification of :-
(1) Sebaceous glands (2) Sweat glands
(3) Meibomian glands (4) None of these

137. Statement–1 : Inheritance of karyogene is
biparental.
Statement–2 : Cytogene is located in nucleus.
(1) Statement–1 is true, Statement–2 is true;

Statement–2 is not the correct explanation
of Statement–1.

(2) Statement–1 is false, Statement–2 is true.
(3) Statement–1 is true, Statement–2 is false.
(4) Statement–1 is true, Statement–2 is true;

Statement–2 is the correct explanation of
Statement–1.

138. Read the following five statement (A–E) :-
(A) Humans are sexually reproducing and

viviparous
(B) The enlarged end of penis called glans penis

is covered by a loose fold of skin called
foreskin

(C) The myometrium undergoes cyclical changes
during menstrual cycle while endometrium
exhibits strong contraction during delivery of
the body

(D) FSH acts at the leydig cells and stimulates
synthesis and secretion of androgens

(E) The enzymes of mitochondria help the sperm
enter into the cytoplasm of the ovum

How many statements are wrong ?
(1) 4 (2) 3 (3) 2 (4) 1

139. In F2–generation of dihybrid cross, if 4000 plants
are produced, then how many will have single
recessive trait :-
(1) 1000 (2) 1500
(3) 2000 (4) 4000

140. (A) Semination (B) Ejaculation
(C) Insemination (D) Spermiation
These following process are followed by sperm,
arrange these in correct order :-
(1) A ® C ® B ® D (2) D ® A ® C ® B
(3) D ® A ® B ® C (4) A ® C ® D ® B

135. vlrr fofHkUurk;sa fdlds dkj.k iSnk gksrh gS \
(1) thu fofue;
(2) mRifjorZu
(3) xq.klw=ksa ds i`FkDdj.k
(4) LorU= viO;wgu

136. Lru xzafFk;k¡ fdldk :ikUrj.k gS :-
(1) flcsf'k;l xzafFk (2) Losn xzafFk
(3) ek;ksfc;u xzafFk (4) mijksDr esa ls dksbZ ugha

137. dFku–1 : dsfj;ksthu dh oa'kkxfr f}iSr̀dh; gksrh gSA
dFku–2 : lkbVksthu dsUæd esa fLFkr gksrh gSA
(1) dFku-1 lgh g S vk Sj dFku-2 lgh gSAdFku-2,

dFku-1 dk lgh Li"Vhdj.k ugha gSA

(2) dFku-1 xyr gS vkSj dFku-2 lgh gSA

(3) dFku-1 lgh vkSj dFku-2 xyr gSA

(4) dFku-1 lgh gS vkSj dFku-2 lgh gSAdFku-2,

 dFku-1 dk lgh Li"Vhdj.k gSA
138. uhps fn;s x;s ik¡p dFkuksa dks if <+,sa (A–E) :-

(A) ekuo ySafxd :i ls tuu djus okyk vkSj ltho iztd
izk.kh gS

(B) f'k'u dk vafre of/kZr Hkkx f'k'u eaqM dgykrk gS tks
,d <hyh Ropk ls <dk gksrk ftls vxzPNn dgrs gSa

(C) vkoZo pØ ds nkSjku xHkkZ'k; is'kh Lrj (ek;ksesfVª;e)
esa pØh; ifjorZu gksrs gSa] tcfd xHkkZ'k; vUr%Lrj
(,.MksesfVª;e) esa izlo ds le; dkQh rst ladqpu
gksrs gSa

(D) FSH fyfMax dksf'kdkvksa  ij dk;Z djrk gS vkSj iqatuksa
(,.MkstsUl) ds la'ys"k.k vkSj lzo.k dks míhfir djrk
gS

(E) ekbVksdkWf.Mª;k ds ,atkbe 'kqØk.kq ds v.Mk.kq ds
dksf'kdkæO; esa izos'k esa lgk;rk djrs gSa

mijksDr esa ls fdrus dFku xyr gSa  ?
(1) 4 (2) 3 (3) 2 (4) 1

139. ;fn MkbgkbfczM ØkWl dh F2–ih<+h esa 4000 ikS/ks curs gS]
rks ,sls ikS/ks fdrus gksxsa] ftuesa ,d vizHkkoh y{k.k mifLFkr
gksxk :-
(1) 1000 (2) 1500
(3) 2000 (4) 4000

140. (A) lsfeus'ku (B) btsD;wys'ku
(C) bulsfeus'ku (D) LifeZ;'ku
mijksDr lHkh izØe 'kqØk.kq }kjk iznf'kZr fd;s tkrs gSa] bUgsa
buds lEiUu gksus ds lgh Øe esa O;ofLFkr dhft;s  :-
(1) A ® C ® B ® D (2) D ® A ® C ® B
(3) D ® A ® B ® C (4) A ® C ® D ® B
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141. A phenomenon, which works opposite to the
linkage is :-

(1) Independent assortment

(2) Crossing over

(3) Segregation

(4) Mutation

142. Which of the following inject by the doctors to
induce delivery in pregnant woman ?
(1) Estrogen (2) Cortisol
(3) Relaxin (4) Oxytocin

143. In gel electrophoresis :-
(1) DNA fragments are arranged according to

length on gel by applying electric field
(2) DNA fragments are arranged according to

charge
(3) DNA fragments are treated by alkali solution
(4) DNA fragments are denatured

144. During pregnancy how many hormones are
increased several folds in the maternal blood  in
following :-
FSH, LH, Estrogen, Progesterone, HCG, HPL,
Relaxin, Cortisol, thyroxine
(1) 7 (2) 6 (3) 5 (4) 4

145. Statement–1 : Biolistics method of gene transfer
is an example of direct gene transfer.
Statement–2 : In biolistics method PBR322 is used.
(1) Statement–1 is true, Statement–2 is true;

Statement–2 is not the correct explanation
of Statement–1.

(2) Statement–1 is false, Statement–2 is true.
(3) Statement–1 is true, Statement–2 is false.
(4) Statement–1 is true, Statement–2 is true;

Statement–2 is the correct explanation of
Statement–1.

146. Which one of the following statements for
pyramid of energy is incorrect, whereas the
remaining three are correct ?
(1) Its base is broad
(2) It shows energy content of different trophic

level organism
(3) It is inverted in shape
(4) It is upright in shape

147. pBR322 is the first cloning vector constructed in
1977 by Boliver & Rodriguez. For how many
restriction enzymes it posses recognition sites ?

(1) 8 (2) 12 (3) 16 (4) 6

141. izfØ;k] tks lgyXurk esa foijhr dk;Z djrh gS :-

(1) Lora= viO;wgu

(2) Øksflax vksoj

(3) i`FkDdj.k

(4) mRifjorZu

142. ,d xHkZofr efgyk esa izlo dks izsfjr djus ds fy, ,d
MkWDVj ds }kjk mijksDr esa ls dkSulk batsD'ku fn;k tkrk
gS ?
(1) ,sLVªkstu (2) dkWVhZlksy
(3) fjySfDlu (4) vkWDlhVkslhu

143. tSy bysDVªksQksjsfll esa D;k gksrk gS ?
(1) tSy ij DNA ds [k.Mksa dks fo|qr  {k s= yxkdj

yEckbZ ds vuqlkj O;ofLFkr djrs gSaA
(2) DNA ds [k.Mksa  dks] vkos'k ds vuqlkj O;ofLFkr djrs gSa A
(3) DNA [k.Mksa  dks {kkjh; foy;u esa ] mipkfjr djrs gSaA
(4) DNA ds [k.Mksa dk foÏfrdj.k

144. mijksDr esa ls fdrus gkeksZu lxeZrk ds nkSjku ekrk ds jDr
esa dbZ xquk c<+ tkrs gSa :-
FSH, LH, ,LVªkstu, izksftLVªkWu, HCG, HPL, fjySfDlu,
dk£VlkWy, Fkk;jkWfDlu
(1) 7 (2) 6
(3) 5 (4) 4

145. dFku–1 : ck;ksfyfLVDl fof/k izR;{k thu LFkkukUrj.k dk
mnkgj.k gSA
dFku–2 : ck;ksfyfLV~Dl fof/k esa PBR322 dk mi;ksx gksrk gSA
(1) dFku-1 lgh gS vkSj dFku-2 lgh gSA dFku-2, dFku-1

dk lgh Li"Vhdj.k ugha gSA

(2) dFku-1 xyr gS vkSj dFku-2 lgh gSA

(3) dFku-1 lgh vkSj dFku-2 xyr gSA

(4) dFku-1 lgh gS vkSj dFku-2 lgh gSA  dFku-2,

dFku-1 dk lgh Li"Vhdj.k gSA

146. ÅtkZ ds fijkehM ds fy, dkSulk ,d dFku xyr gS] tcfd

rhu lgh gS%&

(1) bldk vk/kkj cM+k gksrk gSA

(2) ;g iks"kd Lrjksa ij ÅtkZ dh ek=k dks n'kkZrk gS

(3) ;g vkdkj esa mYVk gksrk gS

(4) ;g vkdkj esa lh/kk gksrk gS

147. pBR322 igyk Dyksfuax okgd gS tks 1977 esa  cksfyoj ,oa

jksfMªxst }kjk cuk;k x;k FkkA blesa  fdrus jsLVªhD'ku ,Utkbe

ds fy, jsLVªhD'ku LFky gksrs gS%&
(1) 8 (2) 12 (3) 16 (4) 6
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148. Reduction of excessive inflow of nutrients and silt
in to wetland from surrounding uplands, it is a wet
land conservation method :-
(1) To check eutrophication
(2) To check desiltation
(3) To check growth of aquatic animals
(4) To check agaging of lake

149. Biogas is the mixture of gases produced by the
microbial activity. The type of gas produced
depends upon :-
(1) Type of microbes
(2) Type of organic substrate/waste
(3) Size of digester
(4) (1) & (2) both

150. During interaction between sea anemone and clawn
fish, which get benefitted
(1) Sea anemone only (2) Clown fish only
(3) Both (4) Nither 1 nor 2

151. Find out the correct sequence of substrate, enzyme
and product :-

(1) Small intestine : Proteins Pepsin¾¾¾®  Amino acids

(2) Duodenum : Fats Trypsin¾¾¾®  Micelles

(3) Duodenum :Triglycerides Lipase¾¾¾®  Diglycerides

(4) Small intestine : Starch Maltase¾¾¾®  Maltose
152. Which of the following is not an adaptation for

altitude sickness ?
(1) Increase in red blood cell production
(2) Decrease in binding capacity of oxygen
(3) Increasing breathing rate
(4) Increasing in heart palpitations

153. Which of the following statements is correct ?
(1) The break down of most of biomacromolecules

occurs in ileum.
(2) Simple substances (digested foods) are

completely absorbed in the duodenum
(3) Very significant digestive acitivity occurs in

large intestine.
(4) Undigested and unabsorbed substances are

passed on to the large intestine.
154. Secondary pollutants is / are :-

(a) Brown air (b) Grey air
(c) Acid rain (d) DDT
(1) a, b and c are correct
(2) a and b are correct
(3) b and d are correct
(4) a and c are correct

148. osVys.M esa] vklikl ds {ks=ksa ls iks"kd inkFkZ rFkk xkn ds

izokg dks jksduk] osVys.M laj{k.k dk rjhdk gS%&
(1) ;g lqiks"k.k ls cpus ds fy, gksrk gS

(2) ;g xknhdj.k ls cpus ds fy, gksrk gS
(3) ;g tyh; tUrqvksa dh o`f¼ dks jkdus ds fy, gksrk gS
(4) ;g >hy ds dkyizHkkou jksdus ds fy, gksrk gS

149. ck;ksxSl lw{ethoksa dh fØ;kvksa ds dkj.k mRiUu gqbZ xSlksa
dk feJ.k gksrk gSA blesa mRiUu gqbZ xSlksa dk izdkj fuHkZj
djrk gS%&
(1) lw{ethoksa ds izdkj ij
(2) dkcZfud voLrj@vif'k"V ds izdkj ij
(3) Digester ds vkdkj ij
(4) (1) o (2) nksuksa

150. Dykmu eNyh rFkk lh&,uheksu ds lEcU/k esa dkSu ykHk esa
jgrk gS\
(1) dsoy lh&,suheksu (2) dsoy Dykmu eNyh
(3) nksuksa (4) 1 o 2 dksbZ ugha

151. fØ;kdkjd] ,Utkbe vkSj mRikn dk lgh Øe igpkfu;s %&

(1) NksVh vka= % izksVhu ¾¾¾®ifs Ilu  vehuks vEy

(2) xzg.kh % olk ¾¾¾®fVªfIlu
 felsy

(3) xzg.kh % VªkbfXyljkbM ¾¾¾®ykbist  MkbZfXyljkbM

(4) NksVh vka= % LVkpZ ¾¾¾®ekYVst  ekYVkst
152. fuEu esa ls dkSulk rqaxrk chekjh dk vuqdwyu ugha gS \

(1) R.B.C. dh mRikndrk c<+uk
(2) vkWDlhtu dh ca/kudkjh  {kerk ?kVuk
(3) 'okl nj dk c<+uk
(4) ân; Lianu esa o`f¼

153. fuEu esa ls dkSulk dFku lgh gS\
(1) byh;e esa  vf/kdka 'kr% tSo&nh?kZv.kqvksa  dk fo?kVu gksrk

gSA
(2) ljy inkFkZ (ifpr Hkkstu) dk lokZf/kd vo'kks"k.k

xzg.kh esa gksrk gSA
(3) cM+h vka= esa egRoiw.kZ ikpu fØ;k gksrh gSA
(4) vifpr vkSj vuko'kksf"kr inkFkZ cM+h vka= esa pys tkrs

gSaA
154. f}rh;d iznw"k.k ds@dk mnkgj.k gS :-

(a) Hkwjh ok;q (b) xzs ok;q
(c) vEyh; o"kkZ (d) DDT

(1) a, b ,oa c lgh gS
(2) a ,oa b lgh gS
(3) b ,oa d lgh gS
(4) a ,oa c lgh gS
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155. Read the following four statement (A-D) and
answer as asked next in them.

(A) The size of a population for any species is a
static parameter.

(B) Natality is the number of birth in the
population during a given period.

(C) Resource availability is essential for the
impeded growth of a population.

(D) In nature, a given habitat has enough resources
to support a maximum possible number

How many of the above statements are correct ?

(1) Four (2) Two

(3) Three (4) One
156. Choose the correct statement :-

(a) Due to green house effect, water use efficiency
will increase in plant.

(b) Due to green house effect, stomatal
conductance will decrease

(c) Stomatal density will increase due to green
house effect

(d) Due to green house effect, moisture carrying
capacity of atmosphere decreases

(1) a,b and c are correct

(2) a and b are correct
(3) b and d are correct

(4)  a and c are correct

157. How many fishes in the list given below are fresh

water  ?

Catla, Pomfret, Common carp, Silver carp, Hilsa,

Rohu, Mackerel, Salmon, Mrigal

(1) Six (2) Three

(3) Four (4) Five
158. Choose the correct match :-

(a) Tropical rain – 2–3 dry month
forest

(b) Temperate broad – Autumn colouration
leaf forest

(c) Temperate needle – 500–1700 mm.
leaf forest rain.

(d) Arctic desert – Less precipitation.
(1) a, b and c are correct
(2) a and b are correct
(3) b and d are correct
(4) a and c are correct

155. fuEufyf[kr pkj dFkuksa  (A-D) dks if<+,  &
(A) fdlh tkfr ds fy, lef"V dh lkbt LFk Sfrd

izkpy gS
(B) tUenj nh xbZ vof/k lef"V esa gksus okyh tUe dh

la[;k gSA
(C) fdlh lef"V dh ckf/kr o`f¼ ds fy, Li"Vr%

lalk/ku miyC/k gksuk vR;ko';d gSA
(D) izd`fr esa] fn, x, vkokl ds ikl vf/kdre laHko

la[;k ds ikyu & iks"k.k ds fy, i;kZIr lalk/ku gksrs
gSA

mijksDr dFkuksa esa ls fdrus dFku lgh gS \
(1) pkj (2) nks
(3) rhu (4) ,d

156. lgh dFku dks pqfu, :-

(a) gfjr x`g izHkko ds dkj.k] ikniksa esa ty mi;ksx n{krk

c<+sxhA

(b) gfjr x`g izHkko ds dkj.k] jU/kzh; lapj.k ?kVsxkA

(c) gfjr x`g izHkko ds dkj.k] jU/kzh; ?kuRo c<+sxkA

(d) gfjr x`g izHkko ds dkj.k] ok;qe.My dh ueh /kkj.k
{kerk ?kVh gSA

(1) a, b ,oa c lgh gS

(2)   a  ,oa b lgh gS

(3) b ,oa d lgh gS

(4)   a  ,oa c lgh gS

157. uhps nh xbZ lwph esa fdruh eNfy;k¡ voy.k gS ?

dryk] ikseÝsV] dkeu dkiZ] flYoj dkiZ] fgylk] jksgw]

esfdjy] lkYeu] fe`xy

(1) Six (2) Three

(3) Four (4) Five

158. lgh ;qXe dks igpkfu;s :-
(a) Å".k dfVca/kh; – 2–3 'kq"d efgus

o"kk Z ou
(b) le'khrks".k pkSM+h – 'kjn jatu

iÙkh okys ou
(c) le'khrks".k lwP;kdkj – 500–1700 mm. o"kkZ

i.kZ ou
(d) vkdZfVd jsfxLrku – de o"kZ.k
(1) a, b ,oa c lgh gS
(2) a ,oa b lgh gS
(3) b ,oa d lgh gS
(4) a ,oa c lgh gS
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159. Which one of the following is the correct matching
of a vitamin, its nature and its deficiency disease?

(1) Vitamin K – Fat soluble – Beri-Beri

(2) Vitamin B1 – Fat soluble – Beri-Beri

(3) Vitamin K – Water soluble – Pellagra

(4) Vitamin A – Fat soluble – Night blindness
160. Largest bud is of :-

(1) Cabbage (2) Cauliflower
(3) Agave (4) Onion

161. The abnormal frequency of bowel movement and
increased liquidity of the faecal discharge is
known as :-
(1) Vomiting (2) Diarrhoea
(3) Constipation (4) Indigestion

162. An underground specialised shoot with reduced
disc like stem with fleshy leaves is :
(1) Bulb (2) Bulbil
(3) Rhizome (4) Rhizophore

163. In Angiosperm, pollen grains generally shed

at  –

(1) Single celled stage

(2) Two celled stage

(3) Three celled stage

(4) Four celled stage
164. In Opuntia, the function of photosynthesis is

carried out by :-
(1) Cladode (2) Phylloclade
(3) Phyllode (4) Bulb

165. How many meiotic division required for the

formation of 100 seeds of Gram –

(1) 100 (2) 125 (3) 200 (4) 250
166. Which of the following statement is true ?

(1) If the stem is jointed with solid nodes and
hollow internodes, it is called caudex

(2) Corm is a condensed form of stem growing
in vertical direction

(3) Sucker is an underground modification of root
(4) None of the above

167. For the formation of mature pollen grain from

microspore mother cell –

(1) 1 meiotic division is required

(2) 1 meiotic and 1 mitotic divisions are required

(3) 1 mitotic division is required

(4) 1 meiotic and 2 mitotic divisions are required

159. fuEufyf[kr esa ls fdl ,d feyku esa ,d foVkfeu] mldh
izÏfr rFkk mlds vHkko esa gksus okys jksx dks lgh feyk;k
x;k gS%&
(1) foVkfeu K – olk ?kqyu'khu – csjh&csjh
(2) foVkfeu B1 – olk ?kqyu'khu – csjh&csjh
(3) foVkfeu K – ty ?kqyu'khu – isykxzk
(4) foVkfeu A – olk ?kqyu'khu – jrkSa/kh

160. lcls cM+h dfydk fdldh gksrh gS :-
(1) iÙkkxksHkh dh (2) QwyxksHkh dh
(3) ,xso dh (4) I;kt dh

161. vka= dh milkekU; xfr dh ckjackjrk vkSj ey dk vR;fèkd

iryk gks tkuk D;k dgykrk gS :-

(1) oeu (2) izokfgd

(3) dCt (4) vip
162. ,d fof'k"V izdkj dk Hkwfexr ruk] fteesa la?kfur fMLd

ds leku ruk ekWly 'kYdi=ksa ;qDRk gksrk gS] og gS :
(1) 'kYddan (2) izdfydk (cyfcy)
(3) izdan (4) jkbtksQksj

163. ,fUt;ksLieZ esa ijkxd.k lkekU;r;k  >Mrs gS –

(1) ,d dksf'kdh; voLFkk esa

(2) nks dksf'kdh; voLFkk esa

(3) rhu dksf'kdh; voLFkk esa

(4) pkj dksf'kdh; voLFkk esa

164. ukxQuh esa] izdk'k la'ys"k.k dk dk;Z fdlds }kjk gksrk gS:-

(1) i.kkZHk ioZ (2) i.kkZHk LrEHk

(3) i.kkZHk o`ar (4) 'kYddan

165. 100 pus ds chtksa  ds fuekZ.k ds fy, fdrus v/kZlw=h foHkktu
dh vko';drk gksrh gS –
(1) 100 (2) 125 (3) 200 (4) 250

166. fuEufyf[kr esa ls dkSulk dFku lR; gS :-
(1) ;fn ruk Bksl ioZ laf/k;ksa ,oa [kks[kys ioks± dk cuk gks

rks ;g dkmMsDl (iqPNh) dgykrk gS
(2) ?kudan rus dk la?kfur :i gS tks fd Hkwfe esa mnxz o`f¼

djrk gS
(3) pw"kdkax (Sucker) ewy dk Hkwfexr :ikarj.k gS
(4) mijksDr esa ls dksbZ ugha

167. y?kq chtk.kq ekr̀ dksf'kdk ls ifjiDo ijkxd.k cuus ds

fy, fdrus foHkktuksa dh vko';drk gksxh  –

(1) 1 v¼Zlw=h foHkktu dh

(2) 1 v¼Zlw=h 1 lelw=h foHkktu dh

(3) 1 lelw=h foHkktu dh

(4) 1 v¼Zlw=h 2 lelw=h foHkktu dh
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168. Find out the correct match w.r.t. dicot stem :-

(1) Endodermis – Cuticle

(2) Pericycle – Starch sheath

(3) Hypodermis – Sclerenchymatous

(4) Endodermis – Starch sheath

169. Which of the following sets of animals belong
same group :-

(1) Bombyx Locusta, Nereis, Squid

(2) Doliolum, Branchiostoma, clarias, Magur

(3) Bufo, scoliodon, Torpedo, Trygon

(4) Labeo, clarias, catla, pterophyllum

170. Find out the incorrect match w.r.t. aestivation

(1) Calotropis – Valvate

(2) Cassia – Imbricate

(3) Bean – Vexillary

(4) China rose – Imbricate

171. Which of the following statement is true :-

(1) All acoelomates contain tissue level body

(2) All deuterostomus contain bilateral symmetry

(3) All tube within tube animals contains organ
system level body

(4) Blind sac animals contain cellular body level

172. An aqueous solution which is readily absorbed and
transported within the plant and releases ethylene
slowly is ?

(1) Pomalin (2) Ethephon

(3) 2 - 4 - D (4) All of the above

173. Which of the following pair is correct :-

(1) Branchiostoma-Hemichordata

(2) Pristis-Bony fish

(3) Obelia-platy helminthes

(4) Icthyophis-Amphibia

174. During the complete oxidation of glucose the
second decarboxylation occur when ?

(1) Citric acid is converted to a - keto glutaric acid.

(2) a - keto glutaric acid is converted to succinyl
CoA

(3) Pyruvic acid is converted to Acetyl CoA

(4) Succinic acid is converted to malic acid.

168. f}chti=h LraHk ds lanHkZ esa lR ; dFku dks Nk¡fV;s :-

(1) vUr'peZ – miRopk

(2) ifjjaHk – LVkpZ'khFk (eaM ijr)

(3) v/k 'peZ & n`<+ksrd

(4) vUr'peZ – LVkpZ 'khFk (eaM ijr)

169. buesa ls dkSuls tUrq  ,d lewg ds gS&

(1) Bombyx Locusta, Nereis, Squid

(2) Doliolum, Branchiostoma, clarias, Magur

(3) Bufo, scoliodon, Torpedo, Trygon

(4) Labeo, clarias, catla, pterophyllum

170. nyfoU;kl ds lanHkZ esa vlR ; dFku dks Nk¡fV;s :-

(1) dsyksVªkWfil – dksjLi'khZ

(2) dsfl;k – dksjNknh

(3) lse – /otdh;@/oth;

(4) xqM+gy – dksjNknh

171. buesa ls lR; dFku pqfu, &

(1) lHkh vxqgh; tUrq dk 'kjhj Årdh; Lrj dk gksrk gS

(2) lHkh M;wVsjksLVksel tUrqvksa esa f}ik'ohZ ; leferh gS

(3) lHkh vax ra= Lrj ds tUrqvksa esa uyh esa ufydk;qDr

'kjhj gS

(4) CykbaM lSd tUrqvksa esa dks'kh ; Lrj 'kjhj gksrk gS

172. tyh; ?kksy esa vklkuh ls vo'kksf"kr rFkk ikS/ks ds varxrZ
lapkfjr gksrk gS rFkk /khjs & /khjs ,fFkfyu eqDr djrk gS og
gS ?

(1) iksesfyu (2) ,fFkQkWu

(3) 2 - 4 - Mh (4) mijksDr lHkh

173. buesa ls dkSulk  ;qXe lgh gS&

(1) Branchiostoma-Hemichordata

(2) Pristis-Bony fish

(3) Obelia-platy helminthes

(4) Icthyophis-Amphibia

174. Xywdk st ds lEi w.k Z  vk WDlhdj.k d s nk Sjku n wljh
MhdkcksZDlhyslu gksrh gS tc ?

(1) flfVªd vEy a - dhVks XyqVkfjd vEy esa ifjofrZr
gksrk gSA

(2) a - fdVks XywVkfjd vEy lfDlukby CoA  esa  ifjofrZr
gksrk gSA

(3) ikb:fod vEy ,sflVkby CoA esa ifjofrZr gksrk gSA

(4) lfDlhfud vEy] eSfyd vEy esa ifjofrZr gksrk gSA
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175. Amphibians contain :-

(1) Only Internal Ear

(2) All parts of ear without pinna

(3) Middle and Internal Ear

(4) None

176. What does a and b represent in the given
graph ?

b

a Vmax

2

Vmax

km
(1) a - pH, b - substrate

(2) a - velocity of reaction, b - substrate

(3) a - temperature, b - substrate.

(4) a - substrate, b - temperature.

177. Which mammals is oviparous :-
(1) Balaenoptera
(2) Felis
(3) Macropus
(4) None

178. There are five statements given below, select how
many of them are true ?

(A) The movement of water through the root layer
is ultimately apoplastic in the endodermis.

(B) Water potential gradient between the
absorbent and the liquid imbibed is essential
for inbibition.

(C) When water enter into the cell it does not
rupture due to the rigidity of cell wall.

(D) Osmotic potential is positive, and osmotic
pressure is negative.

(E) Water potential of cell is only affected by
pressure potential.

(1) One (2) Four (3) Two (4) Five

179. In respiration, pyruvic acid is ?
(1) Formed only when the cell is with

mitochondria
(2) Formed only when O2 is available
(3) Formed only when cell is performing aerobic

respiration
(4) Commonly formed as intermediate product of

aerobic and anaerobic respiration.

175. mHk;pjksa esa gksrk gS &

(1) dsod vkUrfjd d.kZ

(2) d.kZ ds lHkh Hkkx fcuk fiUuk ds

(3) e/; rFkk vkUrfjd d.kZ

(4) dksbZ ugha

176. fn, x, xzkQ esa a ,oa b D;k n'kkZrk gS ?

b

a Vmax

2

Vmax

km

(1) a - pH, b - fØ;k/kkj

(2) a - fØ;k dh xfr,  b  -  fØ;k/kj

(3) a - rkieku,  b  -  fØ;k/kj

(4) a - fØ;k/kj,  b  -  rkieku

177. dkSulk Lruh v.M;qth gS&
(1) Balaenoptera
(2) Felis
(3) Macropus
(4) dksbZ ugha

178. uhps ik¡p dFku fn, x, gS] pqfu, muesa ls fdrus lgh
gS ?

(A) ty dh xfr ewyijr ls varj dksf'kdk rd vrr%

,iksIykfLVd gksrh gSA

(B) vo'kks"kd rFkk var% 'kksf"kr gksus okys nzO; ds chp

ty foHko izo.krk vko';d gSA

(C) tc ty dksf'kdk ds vUnj izos'k djrk gS rks dksf'kdk]

dksf'kdk fHkfÙk dh n`<+rk ds dkj.k ugha QVrh gSA

(D) ijklj.k foHko ldkjkRed gksrk gS] vkSj ijklj.k nkc

udkjkRed gksrk gSA

(E) dksf'kdk dk ty foHko dsoy nkc foHko ls gh izHkkfor

gksrk gSA
(1) ,d (2) pkj (3) nks (4) ik¡p

179. 'olu esa ikb:fod vEy
(1) rHkh cusxk tc dksf'kdk esa ekbVksdkWfUMª;k gksxk

(2) rHkh cusxk tc O2 miyC/k gksxkA

(3) rHkh cusxk tc dksf'kdk ok;qoh; 'olu dj jgh gS

(4) ok;qoh; o vok;qoh; 'olu dk lkekU; :i ls cuus

okyk e/;orhZ mRikn gSA
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180. Which of the following statements are
correct ?
A. Julius Von - Sachs found that green parts in

plant produce glucose and it is usually stored
as starch.

B. Van Neil demostrated that photosynthesis is
essentially a light - dependent reaction in
which hydrogen from suitable oxidasable
compound reduces CO2 to carbohydrate.

C. O2 evolved by the green plant comes from
H2O was proved by using radioisotopic
techniques.

D. Dark reaction of photosynthesis are not light
dependent.

(1) A, C, D only (2) A, B, C only
(3) B, C, D only (4) A, B, C, D only

180. fuEu esa ls dkSu ls dFku lgh gS  ?
A. twfy;l oksu lspl us ik;k fd  ikS/ks ds gjs fgLls Xywdkst

dk fuekZ.k djrs gS o Xywdkst LVkpZ ds :i esa lafpr
gksrk gSA

B. okuuhy us crk;k fd izdk'k la'ys"k.k  ,d izdk'k
vkèkkfjr izfrfØ;k gSA ftlesa vkWDlhdj.k ;kSfxd ls
izkIr gkbMªkstu CO2 dks vipkf;r djds dkcksZgkbMªsV
cukrs gSA

C. gjs ikniksa }kjk fudkyh xbZ O2 ty ls vkrh gSA ;g
ckr jsfM;ks vkblksVksfid rduhd }kjk izekf.kr gqbZA

D. izdk'k la'ys"k.k dh vizdkf'kd vfHkfØ;k izdk'k ij
fuHkZj ugh djrh gSA

(1) dsoy A, C,  D
(2) dsoy A, B, C
(3) dsoy B, C, D
(4) dsoy A, B, C, D

Your moral duty
is that to prove ALLEN is ALLEN
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SPACE FOR ROUGH WORK / jQ dk;Z ds fy;s txg


